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0000000000000 00D mKOOODOOOODODOOOOOOOoO (0 22)00 (26) 0000000000
00O 100000000000000TESOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO
00000 100000000000000000000000O00O000O000O0TESODOOOOODOOOOO
gobooobobooooooooooooOoobooooooOoOoOoooOoOoOOoOoDOboOoOoOOoOoDbOboOobOOOoonn
goboooooooooobooooboono

A

log R
Q
~0
«Q
_|

super

[T T —————

c log T

022 0000000O000O0OOCOOOOOOOOOOOOOO0O0O

TESOOOUOODOOO0O0OOO0O0OOO0OOOO TESOODOOOOODOOoO0OoOoUoooooooooooooo
TESOODODO0OOOD0OO0D0O0O000D000000OTESODOOOOODOOOOODOOO (proximity effect) 00O
gooooooobooboobobobogoooooooobooooboboboboooboboboobobOoDbOoDo
gobooobooboobbooboobbooboobbooboobboon

TESOOODODOD0ODO0DO0D0D0D0D0D0D0D0D0D0D0D0D0000D0D0ooooooooooooooooooooooao
gooooooobooboobobobooooooooobobobobobobooobooboboobobOobOoDo
gooobooooboooboooobbooobooobboobbooobboobbooobboobbboOoo
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O00000000WOOO00000G,0 G=G, T 1000000 (GO0000)0R, 000000 TES
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aoad
ar V2 G

— = — (1T =T 2.
0000000000 ATO 1000000
dAT V2
C—— ~—-L2AR—- G AT 2.9
dt R2 0 (2.9)
Pba
ooo0ooooogd
AT = ATy exp (— f ) (2.11)
Teff
oooooooo
= 19 212
L+ df
To
= 2.13
1+ o (2.13)

000000 (effective time constant) 00000 (2.7)0 (2.13) 000 7eg O

70

ot = . (2.14)
T,
1+3<1—<T)>
000000000000000 TESOOOOD0D0000000 ("< T 00

70
o= 2.15
Teff I+ (2.15)

n
~ — 2.16
L (2.16)
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0000000000000 00ooooooooooXoo0oooooooooooooooooooog

175 18
Al = — 2.17
R(To+ AT)  R(Ty) (2.17)
AR
~——]F 2.1
= (2.18)
E

gogod

24 0000000 OODODOOOOOoOoDOOO

O0000000000000000D0000000000000000 éPe»00000000000000
00000000000000000 §Pe« 000000000 e 000000000000000000

goboboboobooo , ~ 4 '
Poga + 0Pe™" = G(T — T) + G6Te™" + iwCTe™" (2.20)

gobooooobgoon PbngDDDDDDDDDDDDGDDDDDDDDDDDDDDDDDDD

Poga = G(T — T}) (2.21)

00000 (22000 (221)00067T0 6POODODO

11
T =——6 2.22
G 1 + iCUTO ( )
0000000000 =C/GoO000O00ooooon
dofdoooooooboooobdoobooooooooooao
Poga + 6Pe™t + Py + §Pye™! = G(T — Ts) + GoTe™" + iwCsTe™! (2.23)
000000000000000000000000000
. dP, ) )
SPyet = d—IbMe’“t = Vydle™! (2.24)
: dl . . d (Vi , Vi oo
§Ie™! = ——§Re™' = — | = | §Re™! = — 2 §Re™* 2.25
¢ TU4r’™ TR <R) ¢ RO (2.25)
. d ) .
SRe™! = £6Te“*’t = a%éTe"”t (2.26)
00000000 (2.23)00
Piga + 0Pt + Vi V—”Q@(ST&M = G(T —Ts) + GoTe™ +iwCsTe™? (2.27)
bed R R?dT - ¢ '
0000000000 (227)0000
wt 1 wt
§Te™t = ———————§Pe (2.28)
az + G +iwC
11 1 :
= TR TS S Pt (2.29)
1+ T 1+ twTes
oooad o
1
= ——— — 2.30
R X .

gobboooboobboboboobooobooboooboon
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0000000000000 00o00o0oooo0ooo0ooDo0ooOoooO0 2400000000000000
00000000 000000000 LwyODOODO

b=V (2.31)
1 R 1 an 1 L:o
_ - _— — = = 2.32
L) = Gl Tim <7 ( R) (Vo) = T T iwm = 1+ iwmo (2:32)
000000000 .
_ah,

ooooooooOoOoOOOOOOOOOOOOOOOOOODODODO

7
= — 2.34
Siw) =2 230
0L(w)ODDOOODO
1 L(w)
_ - 2.
1) = T ) (2:35)
1 Lo
_ = 2.
W Lo + 1+ iwTg (2.36)
1 Ly 1
= —— 2.37
Vo Lo+ 11+ iwTes ( )
0000 (Appendix COO)0DOO0ODOO
T0
eoff = 2.38
Teft Lo+1 ( )
00000000000 D00000D00 (Ly>»1)0D0
1 1
_ = 2.
Sr(w) Vo 1 4 iwTeg (2.39)
0000000 w1/ 0000000O0O0O0O0ODO
g L (2.40)
I — Vb .

0000000 V,000OOOoooS(w)0D0OO0O0D0D0000 (current responsivity) 000000000

absorber Rttt |
AP :
i
[

APad — ¥ 1

024 00D00O0000000OO0DOOO

00 P(t)=FEs(t)0000000000000000000000D0000 (—o<w<-+c0)000000

P(w)

1 > .

— E it 2.41
2W/_m S(t)eitdt (2.41)
FE

=5 (2.42)
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gobooooboobboboboobooobooba

I(w) = S;(w)P(w) (2.43)

E L 1
= 0 : (2.44)
27V Lo+ 11 4+ iwTeg

goboooobooboobbooboobbooobdg

I(t) = / I(w)e™ “tdw (2.45)

1 E Lo [® e it

= ——— —d 2.46
277Vb£0+1/,001+¢meﬂ” (2.46)

E Lo ¢

- _ — 2.4
Voret Lo+1 7 < Teff> (247
aF t

-7 2.4
() i

00000 (2190000000000 000000 TESOOOODOODOODOODOOOOO P(t)=FEét)0OO
ooboooooooobo
1 1

AT (w) = P 2.4
W) = Gt 17 L)@ (2:49)
1E 1 1
_1E 2.
2r G 1+ Lo 1+ iwTeg (2.50)
00000000000000
AT(t) = / AT (w)e™ “dw (2.51)
- LT e 9.52
*ﬂécoﬂ/,mlﬂmeff” (2.52)
E 1 t
_ _ 2.
GTeff £O + 1 P < Tef‘f) ( 53)
E t
_E _ 2.54
E () o5

gogo
000000 L, 00000000000 (2470

Lo
I 2.
/% )it =~ ;0 E (2.55)

ooooooXoooooooooooooooooooOooooooo0o pOO0OODOOOOOOODOOOOOO

ﬁ+1 £+1
o0oooououoooooooooooooooooooooo

25 OOobOOO

0000000000000 00O00O000000O00o0O0Ooo0oOD0oOooDUODY/fOoC00OOOODO
goooo00o0ooo0d0oDoO00oOoOo0o00ooOoOUdU0oDOU00OOoO0U0OOOoU00ODODOOUODOOOoO Xooodg
gooobooooboobobooobboobobuooobboobbooobbooob bbb boobbUoOoo
O000000O0D (intrinsic noise) 00000000000 DO0ODOO0O0OOOOOOOODOODOOOODOOOODO
0000000000000 00o0oooooooooooooooooooooooooon §2.7.200000

ooooooOooooOoo 200000000O0DOCOO00OOlIO0OODO00OOO0OODOOOO0ODOOObOOn
00 100000000000 0000000000000 0D (DU0ODO0ODOD)000O0O0 2500000000
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gooooooboobooobooobbooobooobboobLbooobboobbooobboobLboobDD
gobobobobobooooooooboobobobobooDoooboooboobD0obOobOobDOobLDOoboOoboOoon
gooboooo

phonon noiséP,, = (4kT2Gr")12 Johnson noisAVJi= (4kTR)H2

Y

1
R

1 AT [qR| AR
AP > . ™ > Al
+ G(1+iww) T R

Vb [t

025 0O00O0O0OOO0OOOOCOOOOOOOOCOOOOOOO

0000000 éP,,0000000000000

1 L(w)
6l = ———~"L 4P, 2.56
ph Vb 1 +£(w) ph ( )
= S10P, (2.57)
00000000000000000000000
812, = |Si?6 P, (2.58)
1 Lo \? 1 )

= 6P 2.

V2 (co + 1> 1+ w22, P (2:39)

0000000000000 0UOUUOUOOgOo<L f<ooog

2
fT tk(t) dt
P2 = 4kBGT2TS(Tk(T)) (2.60)
Ir (%) dt

= 4kpGT?T (2.61)

000000000DK(7)00000000000000000000060=T/T,000k(T)0 k(T) = k(T)o"*
000000000000r 00

n 1-—6#" @+

- 2.62
2n+1 1-60—" ( )
000 (Mather, 1982)00 (2.61) 0 (259) 000000000000000000000
813, = 4ksGTT|S | (2.63)
4kpGT?T [ Lo \°> 1
=2 0 . (2.64)
b2 Lo+1) 14+ w25
4kpGT?T [ Lo \° 1
_ 4knC ( 0 > - (2.65)
Vi Lo+1) 14wt
oooooo
00000000000 6V;000000000 61900
V3

510 = —= 2.66
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gobbooobuoobboobuoobobooboobobooo

1
6l = ——61° 2.67
TTOT L(w) J ( )
1 .

——— + WTef JV/;

Lo+l e J
_ 2.68
1+ iwreg R ( )
B 1 1+ iwrg 0V; (2 69)

Lo+ 11+ iwres R

0000000ooooooooooo oL f<oooog 5VJQ:4/{BTRDD[ID[IDD[IDDDDDDD[I

2

4kgT 1+ iwry
612 = 2.70
J R <Eo+1> 14 iwTeg ( )
_ 4kgT 14+w? TO 2.71)
R Lo +1) 14+w?r3 ‘
2
k
_ I (£o+1) ifw <! (2.72)
dhpT if w>> 74

IZIEIDDDIZIIZIDDw<<T(;1DDDIZIDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDW>>TJH1
oboboooobooooboooooooooon
0000000000 0000D00000000000000000000<LS f<ooOOO

§1% =015 + 012, (2.73)
aksT (1 \° 1+w?r? - 1 Lo \> 1
= 4k GT?T 2.74
R <£0+1> 1+ w2t +&B Lo+1) 14 w?ti ( )
14Taly 2
_ 4kgT + W,
BY (Lo+D? off (2.75)

R 1+ w?r%
goo0oO0o0oo0oooo0ooOoooOooooooooo

4kBT 77,/2 + (.d27'e2ﬂc

6I% =
R 1+ w27'c21cf

(2.76)

oooo0o2e6000000000000C0C0CO00000O0O0ODOOOCOOOOOOOOOOOOOOOOOOOO

goooooooooono
OI%, _ alol 277
612 1+ w?rd '

gboobobobooooboobooboboboboooooboobobobooo QCOFDDDDDDw>TO_1DDEID
DDDDDDDDDDDDDDDDDDDw>>Te;f1DDDDDDDDDDDDDDDDDDDDDDDDDDDDD
gooogo

0P a 2E?
gnal _ (2.78)
0Py 4kpGToT
goodoooooooooooooooooooboooooooooooooooooo
0 (2.37)00 (272)00000000000000000 §;0000
4kpT B2 (1 + w2r2)
613 = 07|52 2.79
e a (2.79)
000000 (2.64)00 (2.72) 00O intrinsic 00 0 O
4kpT 1
512 = BT L+ o 62 4 GT2T|S) 2 (2.80)

R L3
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=100 a=1000
le-11 T T le-11 :
Signal Al Signal Al
Johnson Noise ------ Johnson Noise -----
Phonon Noise ------ Phonon Noise ——----

le-12 le-12

1e-13 1e-13

le-14

le-14

Current Power Spectral Density (AVHz)
Current Power Spectral Density (AVHz)

le-15
10

le-15
10

100 1000 10000 100000 1e+06 le+07 100 1000 10000 100000 1e+06 le+07
Frequency f(Hz) Frequency f(Hz)

026 0000000000 a=100 00 o=1000000000000000000000000C00OOGO
gooooooooooooooboooooooooOoOoboOoO0OoOoOooOobObCOoOoOooOoobooOoOobOoo

0000000000000 (noise equivalent power) NEP O

2

NEP(f)? = of (2.81)
St

4kpT b2 L2

zlg£2<1+(%#fn§+b§RGTF) (2.82)
0
2.2

— 4kpTP, <1+(27T2f)T0 O‘F) (2.83)

L2 Lo

oooo

26 D00ODOD0OOOODOODODOOOO

XO00OOOOO0OOO0O0OO000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000000
0000000000000 00000000000000000000000 (Szymkowiak et al., 1993; Irwin,
1995a)0

0000000000000 D()0000000000

D(f) = A x M(f) + N(f) (2.84)

0000000000000 o0DOoOM(f)O N(f)DODODOOODOOOOO (DDOOOD S;000000D0O0D
00000000000)00000D000D0O00000DADDOOODOODOODODODOOODOOODOOODDOODOO
0000000000000 A0OOU0OO0OO0O0OU0O0O0O00O0OO0O0OoOoUOOoO0OoDOoUOoOOooDoOoUoOO

D(f) — A x M(f)[?
ﬁ_/l(nmﬁp(ﬂﬂ (2.85)
DDDDDDDXQDDDDDD AO0O
o (2.86)
oA '
gd
oo DM*+[2)*Md
A:ﬁm T (2.87)

M2
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0000000D(f)0 M(f)00000000000000000D(—f)=D(f)*0M(—f)=M(f)*00000

ggoooo
© D(H)M(f)" = DM [ M()D()*
/. e 4= -/ anp U= /. ane (2.88)

oo

00000000 AD

> DMZgf
A::f;f§22 (2.89)
ffoo |N\2df
gooo
© D |M|?
D M|%g
A:—f—O;MLNJ J (2.90)
o x| df

00000 (290)000A0 S/NO |M(f)/N(f)|?000000000 D(f)/M(f)0000000000000
00000 (2.90)0000

N I D(t)]-'*l( M (/) )dt

N 2
S Yl (2.91)
Jo VR df
DDDDDDDDDDD]—'_lDDDDDDDDDDDDT(OE}'*(%)DDDDDDDDDDDDDDDD
00000000000000000000000000000000 HO
oo
H:N/ D(t)T(t)dt (2.92)
—00
0000000000000000
H=NY_ Dit)T;(t) (2.93)
i

0oo0oooooNOODOUDOUDOODOOUD;()O T;(t)DDO0DD0ODDOOD0OO0OD0ODOODO0ODOODOODOODOOD
00000000000000000000 X0000000 (00000000)0000000*0

A000 6?0 x20000
%x? 2

947~ o (2:94)
goooooooonoo
—1
2x2\” > M|? Y !
2:2( ): / ‘ p :</ d) 2.95
(2 aAz - N f 0 NEP2(f)f ( )
0000000000000000000000000000000000 ¢0000000000000 (lo) O
0000000 NEP(f)0OOO
1
> 4d "z
AErms:</ f) (2.96)
o NEP*(f)
00000 (Moseley et al., 1984)00 (2.83) 00 (2.96) 0000000000000 O0O0O00O
-3
>0 4
AEy s = / — af - (2.97)
0 RS ((1+ (2nf)*r5) + 72 RGIT)
AkpT b2 £2
=/ =22 y/1+ 2 RGTT 2.
_Jakgr2e - 1+£—%RGTF (2.99)
— VY Y ReT? b2 '

2000000 M(F)0000 (291)0000000D(f)=M(f)000 A=1000000Oresponsivity D M(f) 0000 (2.91)
0000000D(f)=M(f)000 A=00000000000
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oooo¢n

b2 r

2\| RGTL2

£

0000000000000 o0oooooO (FWHM) OO
AEFWHM:2~35§V kJBTZC

00000 (2100000 (2.31)0 (2.33) 0000000

€ =2, \/T¥alol

Oé[,o

000000007, <7T000000~1/20P, ~GT/n0Ly~a/n 0000

(2.100)

(2.101)

(2.102)

(2.103)

000000000 «000000000D000000D000000000 o« ¥?200000000000000

O00000a~100000 0 010000000
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27 SQUIDODODOOOOOOOODOO

TESOODOODOODOO0OO0OOO0O0O0000D0O0000O000000oo0ooooooosSQUIDODoOoOoooon
000000 oooooooooooooon de-SQUIDOOO SQUID AMPOOOOOOOOOooooo

SQUID 00O de-SQUID O rf-SQUID O 20000001 00000000000 0O0O0OOOOOOOOOOO
ri-SQUID 0 0000000000000 0000O0D0O0 2000000000000 000000OO0ODOOOOO
de-SQUID O 0OO0OO0O0OO0OO0OOOOOOOOOODOODODODOODODOODODOOOOOOOOOOOOOOn
00000000000 de-SQUIDODO0DODO0DOSQUID 00000 Weinstock (1996); Clarke & A.Braginski
(2004); 0 (1991) 000000000

271 de-SQUIDO OO

SQUIDOO0D0DOO0OO0DOO (Superconducting Quantum Interference Device) 00000000000 OO0O
00000O00O0DO00O000D0O000000000000000000UO0O0DO0DOODOODOO (DOOLOO
DD)DDDDDDDDDDDDD

Is

&

|1 elA 92A |2 y
Oig Op

¢ 028 SQUIDOOOOO
Is

0 2.7 de-SQUID

02700000000000 A0BOOOODOODOODOO102000000000000000000
goobobobooooooooobobobooooooooboboboobooo

Iz' = IO sin(@iB - 0,',4) = Io sm(AGz) (Z = 1,2) (2104)
ooo0ooooooooono Ig00ooao
Ip=1+1, (2.105)

0000000000 A0 BOOOO (O 2700)

q)ex
(014 — 01B) + (B25 — O24) = Dby — NG = 27qu0t (2.106)
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oo0oooooo ¢0o0oo0o0no ¢.,.,00000000000000 LODOOOOOOO JOOOO

&=y +LJ (2J =1, — L) (2.107)

0000000000 LOo00D0OooooO (2.104)-(2.107)0001Ip00000000O0ODO

q)ex . (beX
Ip = 2Iycos | m—=2 ) sin | AG; + 71— (2.108)
D dq

OO0 ABOUOOOOOOOOOOOUOOOOOUOOO IO ¢ D0OOOOO

q)ext
cos (ﬂ' 5 )‘ (2.109)

0

I. = 2I,

D000000000000000000000000000000000000000000000000000
0D LODDD00O000000D000 200000 100%00000000

D0DD000SQUID 000000000000 LOO000000D0000000000000000O0-
T<Ag;<T(i=1,2) 0000000

2
Ii = Io sin AGZ ~ 7]0A0i (2110)
m
000000 I; 00 (2.104)-(2.106) 00O
1 (I)ext
I, ==1I 2.111
27 T L+ & @11)

000 :=102000000000000000000000 LOOOOOOODOOO @Cxt:%DDDDDDD
004, 00000000000000 L0

2L,
B, = @0 (2.112)
0
ooooooo
21,
e = 2.113
14 6L ( )

O00000o0o0ooooo SQUIbOO0D0O0O0OO0O0O00O0OOO0 LOoOo0ooooooooooooooooooooo
ooobooooooon

00000000000 10000 I>1,,.)/O0oOoooooooooooooooooooooooooooo
cobodooboobbodoooooboooooobooooooooboooooooooooboooooooooOoonn
ooooooooooOooooOooo0o0ooOoooooooooooO0 ROOOBOOO

V=RJ/I?-1I2 (2.114)

000000000000000000 Ig(>20,)00000000000000000O0O0O0OO0

0000000000000 0000000000O000000DO0O00000/0000D (0DODO)D0O0O0Oo
O0000000000SQUIDOO0O0O0N0NONODNOOOO0O000ONONoNoD SQUIDOODOOONOoooooooo
oo0oooooooooooooooon

272 00O0OO0O0OODOO

000000000000000000000 de-SQUIDODOSQUIDOODOODOONODN R =2R000
000000 LO00O0O0000000000000000000000000000 4TROOOODOOO
4kpTR/(R*+w?[?)0000000000000000D000000 BOOODOOOODOOODOOOO

2
(60)* = éﬁ?f%%?fi (2.115)
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0000000000000 000000000D0D0000D wk R/LOODODOOOO L=10""HOR =200
B=1Hz00O0OO

5P
— ~05x107° (2.116)
d
0000000000 1~200000
de-SQUID 000D 0OOODOOOOOOONOONOOONOONONOONOONONOONOONONOODOONOONOONog YV
000000000 JO0O0O0O00000L,=0000000000000000000000000000000
00000000000000000000000000000000000000000000 (0 2.800)0
SV, = 4kpT(R/2) = 2kpTR (2.117)
2kpT
R
00O00SQUIDOO JOOOO §JOOOOOODOOOO0OO0O0O0OO0O0 VOODOOOODOO000o000oo0o
000000000000

S; = 4kpT/(2R) = (2.118)

d
6V’::6V0—%2£3L5J (2.119)
0ooooévoo §JOoOOoOooooooon
dv
|5VV*=\6V0F-+|3514ﬂ5JP (2.120)

00 6vl0sJOODO00O00 (2117)0(2.118)0000000000000000000 Ig~2,,000000
0000000 ¢=0000 ¢=9,/200 6[¢c0000000000O0O0O0O0ODOODOODOODOODOOOODOOO
R/200000000000000 RI,/200000

dv 21y R
PO VS 2.121
d® "~ (14 fL)®o ( )
go0oooooooooooooo
1 -2
Sy = 2kpTR <1+ <1+ﬂ> ) (2.122)
L

gooao

273 0000000 FLL (Flux Locked Loop)

SQUIDOO0OD0OO0OO0O0O0O0O0D0OO0O0D0NO0NOOND0N0N0ND0N0N0D0D0000000000DOoOODoOoOoOOOOoooooo
goobogooooooooboobobobooboooooboooboobobobobobooboboboobobOoDbo
00000oSQUIDO0O0DO0DOND0NODODN0N0OD0D0N0O0D0DO0UD0OD0DD0DooDoDooooon (FLL:
Flux-Locked Loop ) DO OOOO

274 FLLODOD

00000 FLLOOOD 290000000000000000000DO0O0OOO00ODO0O0OOODODOODOOOD
00000000000 oooo0o0oo00ooo0o0oDoo00o0oo000oo00ooo0ooooOg kHzOO0OO
000U0oooooopooooo SQUIbDODODOODOOOOCOOOO0O0UOUODUODODODOoOOOOOOUOOOOOoOoO
goooobobooooooooboobooooooobbbooooLDb b0 o
o00o0o0oooo0o0oooo0oU0UoooooO0U00ooOO00U0U0D0DOOoO0UODODOD RppOD0OOOOOO
00000oooooopooooooo SQUIbDODOODODOOOOOO00O00D0DOoDOoDOooDooooOoOoOOoOooooon
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'}f? Oscil loscope
Yvy
Bia m
A\
Y ) W
s SQUID bias

éé %SOU'{D}g
Input Feedbac

input Coi l Coil

input coil
== > o
feedback

coil Mrs

e RFB

7

029 0000000 (FLL)ODODODOOO 0;000000000 0;000000000

O0ooosSQUIbO0O0OO0O0OOOO0OoO0oO0oOo0o0oO0o0ooo0oOo0LOo0oUooO0DooOoUoOo0oOo0o
O0000ooo0o0ooooooooo SQUIDOO0O0OOO0O00ooooO0oooooooooooooooO
oooooooooogooon

275 SQUIDODDOOOOO

SQUIDOO0O0O0O0OO0 2100000000000000000000000000O0OODOOOO00OO0O SQUID
oooooobooooobooooooboOobooooooobOo0oobDOobOoooDOoOobOobOoOoDOobObOODOD
SQUIDO0 0000000000000 OO0O0OO0O0Do0o0UoooUooooooosSQUIboDOoOooo
oobooooboobobooooooobooobobooooooboboOobobooooOoOoooObobobOoooOoooDbDbOooDo
0000000000000 0o000oo0o0o0o0ooooooOoSQUIDOOOO0O0OoOooUoOon SQUIDoOO
O000ooooSQUIbOO0OOOO0O0OooooOoooooooo

SQUID feedback

input output bias coil

bias bias

output
v/ feedback
- A s coil
input '
coil '
" AMP AMP

feedback
coil

V

: . feedback . . .
L ? . input ? @ % fe_edback
e / ‘ : / . lnput
SQUID _L : Serial r IJ
series = = . SQUID - e
output < | ) array <G —
array 15K ' 300 K L5 K - 300 K

0210 SQUIDOOOOO0OOOOODOOOODOOOD 0:200 SQUIDOOO (Two stage SQUID)O O :1
00 SQUID OO0 (serial SQUID arrray)O
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276 FLLOOO

v ®
Iy | 2N L RV (MVI D)) | AW) | Vour

Py |[P] vl
Prp
o Al | Res

0211 FLLOOOOOOO

FLLOODOOODOOOD 21100000000SQUIDO00D000N000N0ON0N0DN0NONN0NONN0ONNOn
00000000 SQUIDODO0O0D0000O0 M, 00000 &, 000 SQUIDOOO0O0D0000D00SQUID
000000000 SQUIDOOO (02110 Ve®)0000000000000000 (02110 A(w)000
00000000D000000000000 Ry, 00000000000 000000000000000000
Mg, 0000 SQUIDOOD &, 000000000000FLLOOOO0OO0DO000

GA(w)be
Clw) — 2.123
()= CE I 2123
0o0ooooooooooooooo sQuiIbooooooooo
(I)in
b, — Pp) = ——— 2.124
O0O00O00OFLLOOOOODOOOOO
= Vow  L(w) M; M;
== ==\ ~ 1 2.12
T L(w) My ™ Ay 0 (£w) >>1) (2.125)

000D0Z00000000000 Rp, OOODDOOOODDOODDO

277 DOODOO

SQUIDOOO0O0O0oOO0O0oOoOo00ooOooooooooo-00

. . f Imax
SR = fIpay =314 (100 i) \T00.a A/s (2.126)

00000000 Lywe2.UOOUOOoOoooooooooo SQUID 0000000 peak to peak) 0000 SQUID O
oo00o0oo0 FLLOODOOOOOO0OO0oooOooooooooooo

000000 I OSQUIDOOOOODOOOOODODOOO0ODOOO0O0OOOOOSQUIDOOD 00000
goboooooooo 1ogoooooooobooon —i¢0<¢<iDDDDDDDDDFLLDDDD SQUID
00000000 (1+£)0000000000D0U000D0O0OD0 Inax 0O

Qg

ImawMin < (1 + ‘C(w)) 2

(2.127)

OoooooooD M, O0SQUIDODOODODOOOODODOOOOODOOOOOO

Lw)OOOODOODOODOODOUOOODDODODDODOOOOFLLOODOOOOD L(w)ODODODOOOOL(w)=1000
000 BOOOO 180000000 FLLOOOOO (D0ODO0DDO0O0OO0D0OOOD)D0ODO0DDOOODOOODOOO
ooo0ooooo0oooo0 BOOOOOOOOOOOOOOOOOOOO
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030

TESOO0O0O0O0O0OoOoOoODOoOod

0000 X00O0oooooooooooooo~10000000000000000000O0O000DODOOOO
000000000 (multiplex) DOOOTESOOOOODOOODOOOOOOOO SQUIDOOOOOOOOOOO
0000000000000 (~GHz)OODODOOOOoOOSQUIDODOOO TESOOOOO (~0O 10kHz) OODO
oooooooooo00ooOo0o0ooOOo00oODOO0o00oODOOoOUoOOO0OTESOOOODOODOODOOOOOD
gobooboboooooooooooooooooooooooooooooooooooooobooobooooonn
obooooboooooOooooooooooooOoooOoOoOoobooOoOooOoOoOoOoOoOobOOoOoOobOOoOobOboOobODOboOoonn
00000000 Irwin (2002) 00000000O0OO0ODO

31 00DOOoOooooog

311 000000

ooboooooooobooooooooboooooobooobooobo0ooboboO0 s1booooDOoooobooobooOooon
00000000 o00o0o0oOoUooooOoooOo SQUIbDODOOOOOoOO0OO0OoOoUoOOoooOoooDOO
oo00o00ooooO0o000oOoO0O00000O0O000OOO000OODO0OO00OODODODO SQUIDOOO
gboboobobobobooooooooooooooooooboobooooooboobooboooooooon
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000 M,00000000000D0O0000O0LCOO0O0OO0DOO0OO0OO0OO0OO0DOOO0O0ODOOOO0O0
0L, 0000000000 SQUIDO0O0DOO0O0OO0OO0O0OoooOOoOoooooo

031400000000 A0ODOOOOOOODO TESOOO 100 /000 200000000000000
0000000000o0o0oo0o0oo0ooo0o0oo0oUoD Z,000L200000000000000 f

Y~ S
' TES ﬁ | Z2
W I M12
Vi(f1) H|l(f1) dh 12(f1)
L1 L2

0314 0000O0O0OO0OO0O0OO0O0O0OO0OOO0OOO0O0O0

coooooooo

Va(f1) = —2mifMioIi (f1) + Zo(f1)I2(f1) =0 (3.66)
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goooooooo i AL
mm-@ﬁdﬁﬁn (3.67)

0000000¢000000¢? = (I2(f1)2,)/(I12(f2)2,) 00000000000000000 TESODOOO

0 IL(f) 00000000
Ly(f1) IL(fi) _ 27 f1 Mo

2T L) Ll 7 (3.68)
0000 Z(f1) =4miAfLODDO00O0
q:%é% (3.69)

gogo
gooboobooboooboboobuoobbooboobboobbooboobbobDboobboobbooDbOoo
ooboOOopODOOODOCOOODOO100DDOO

Vi(f1) = 2mifi L1y (f1) + 2mifi Mo Do (f1) + Z1(f1) 11 (f1) (3.70)

0000000000000000000000000000000 AZ, O0AZ (f1)L1(f1)=2mifiMioL(f1) 0
000000 (f,) 0000000 LOZ(f;) =4mAfLOAf=npBO0000000

o L,  (2mifiMi2)> [ fi Mio\”
AZl = 27TZf1M1271 = ?fl) =T (Af) <L> flL (371)

) (B - 2 ()

LICO0O0D00000000000
0000000000000000000 k=M;,/LO0000O0OB=R/(27L), Af=nB00000

QQZS%ZS% (3.73)
k2 (A (A iR A
n= (35) (5) -5 (5) 7

0000000000000 U0oU0AfOUOOUODOOOOUOOOKD LOODOOUOOODDOOOD AfOUDOOO
goboooooooooooobooo

gooooboooooooooboooooo

O000000000000oo00o0 3.1500000000000000000000 TESOODODOOOOO
00o0o0oooooooSQUID 000000000000 ooooooonooooooooooooooooo
Jodo00o0ooooo0oodoooodo0oo0ooooooo Ig0ooooooooooooooooog
Tioop O

Msl-[sl(fl) = Iloop(fl) X Lloop (375)
goooooooooa
Vv2(f1> = 27TistIloop(f1) + ZQ(fl)I2(f1) =0 (376)
oooooooo
M2
I(f1) = 7—1h(f) (3.77)

Lloop
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Feedback

Ch5

Ch6

Ch7

Chs

0315 0ooOO0oO0oOo0oooooo

2
00000000000000000 My, = szDDIZIDIZIDDDDLloop:ng+L/fb+L{no<ngDLS:L;:

Lo
M,=LO0000M;,=L/l00000

. 2
50
= leif (3.79)

00 1/%,1/l0000000000000000000000D000O000000I00000000000000
00000000 Liep 0000000 SQUIDOODODOODO0O0O00DDDD x1/100000 S/NOOO
oooo

000 SQUIbDOOOODOOUOOoOOoUoOoO
0000000000000 00oOo0o0oosSQUIDOOOOOOn

MinIsl (fl) = Isq(fl) X qu (380)
oooood )
M:
Mp = le: (3.81)
. 2 2 2
i (f M;
= — | = ne 3.82
P=on (n) (LinLSq> (3.82)
1 M2 1 M2
gt n \_ L/ in (3.83)
2Af \ LinLyq 2n B \ LinLgq

00000000 00000000000 0OODOODOOOODOOOOORODODOOODO S/NOOOODO
ooboooooooog

3 J00oooooobooooooooo,booboooon

gogboodooboboobooobbooboobobooboobbooboobbooboobbooboOoo
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00 I=1Irgsx1/(1+£)00000000000000000000 Z 0O 1/(1+£)000000000000
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0000000000000 SQUIDO0O00O0DO0D0O0D0O0D0OOODO0DOOOoDOooO 1/(14+LrLL)
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41 200 SQUID ( Two Stage SQUID )

000000 800 SQUIDUOSQUID 000DODOODDOODOODOOD8OD SQUIDODODDOOOO (O
00000000 SQUIDOOO ~20 pkA)DSQUID 000D 0D0DO0DD0D0D mVODOOOD (SQUIDODOOO
x20 pA) 000D 0O0O0O0OUDDOOO0UDO S/NOODDOODDOODDOODD SQUIDODOODOOOD 200
SQUID ( TSS : Two Stage SQUID) 00 00O

00000800 SQUIDOOUOOSQUIDOOD (000000000 4200 SQUIDOOO )O00OOO
0000000000000 000DO0O0000DOODOO0OO 800 SQUID +4200 SQUIDOOOO 200
SQUIDOO000O0O0000O00O0oO0o0oouooooo

8 input SQUID N-SSA

77777777777777777777777777777777777777777

iRa Ma Vout
;é i i /N :
 Min la | | |
Input coils 7 | | |
— | La |
., .Lin | | |
— 5O

| ! | | ecd

041 800 SQUID O SQUID 000000 200 SQUIDOOODO

42 800 SQUID

00 SQUID OODUDOO0OO0OODO0DOO0OO0O0O0DO00ooOoDo0oooooooooooDoooon 4000 800
SQUID (S8INPUT10O8INPUT20 8INPUT3O8INPUT4 )0 00000 0U0OOD0OOOOOOUOOFLLOODOOOO
000000000000 0000000o00o0ooo0oo0on 420 800 SQUIDODOOODOOOOOOO
dmx3mQOdOOO

O00U0U00O0oooooOoUooooooooouooon 8SINPUT40000C0O SQUIDODOOOD 8CoOoOouooo
000Do0000ooooooogooooon SQUIDOOO0000O 800000ooooooSQUIDOOoOod
gooooooooobOoOoobOOobOoOooOO0oOoOoOoO0DOobOOoOobOOoOoOoDOobDOoObOODbDOobO 30ooooooog
SQUID OO0OO0 800000000000 O0O0O0ooSQUID O000D00oooooooooosSQUIDOoOn



42 040 800 SQUIDOOO

0000000000000 000000000000000DO0O00O00 SQUIDODOOOOOOO0oOO0oOOn
ooooooooooooobooooooboooooo 4000000000000000C0C0DO

-]

Rl TR

042 800 SQUIDOOOO

421 8INPUT1 DO

Input 1 Input 2 Input 8
Lin, 1 Lin,2 Lin,8 8
6. 4nH 6. 4nH 6. 4nH Ra
0] = a0
1= 1=, N
M n 100pH Mn, 1 Mn, 2 Mn, 8
800pH SOOpr 77777777 800pH | Li n, SSA
SQUID inductor
Lsq, 1 U Lba,2 Usq. 8 |
Lsq 12.5pH 100pH ] [1oopH w
S A
M b 100pH Mb, 1 ’ M b, 2 Mb, 8
100pH 100pH 100pH
a
Modulation
/ Feedback
Lfb 800pH ] — e ——
Lfb, 1 Lfb,2 Lfb, 8
100pH 100pH 100pH

043 SINPUT1OOOOODO

SINPUT1 ODODOOOOOD 430000SQUID 00000000000 SQUIDO0OOOOOOOOO LoO
00000000 SQUID 00000000000 o00o000 LO0oooooo0 SQUIboOooooooooo
000000000000 UOO00OUODOO SQUIDODO0O0OO0DOO0OOOooOooooon SQUID OO
00000 10o0o0o0oooooo0oooooooooooo8ooooooooooooooooOooooo
1000000000000000000D00000 SQUIDOUOOO0OODOO0DOOU0OoO0oUo0oooUooUooo
ooooooooo

1. SQUID 0OOOO
e 80000000000 DODOO
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000000000000 (000000 d=65 um ) Ly =100 pH (k=1,2,...,8)
000000 (00000000000000 ) ¢ 1000 pum
00000000000 L =100 pH/8 =12.5 pH
SQUID 000 L=125pHOI, =15 pAD DO (4.4)00 B, = 0.180 A, = 20 A
2.00000
e 0 SQUIDDDODOODDOOOOD 800DO0O0O0O0DDDOO
e J00DODODOO Liy =100 pH x 8 + Ly in ~ 6.4 nH + Lg i
e SQUID 000000000 OO M, =800 pH/8 =100 pH
3. 00000D0000O0n
e 0 SQUIDDDOO00OODDOOOOD 10000000 800000000 100000000
e J00DO0DOD0O Ly, = 100 pH x 8 + Lg g, ~ 800 pH + Lgy g1,
e SQUID DO0DOODOOODO My = 100 pH x 8/8 = 100 pH

000 Ly, 000000000000000O00O00000D00 SQUIDOO0OOO0OO0O0O0O0O0O00000000
000000000 sSQUIbO0OO0O0O0O —-1/80000000000000000O000OD0ODO0OOOOOOOO

4.2.2 8INPUT2 O

Input 1 Input 2 Input 8
Lin, 1 Lin,2 Lin,8 @
6. 4nH 6. 4nH 6. 4nH Ra
] ]
1= 1= N
M n 100pH Mn, 1 Mn, 2 Mn, 8
800pH SOOpr 77777777 800pH | Li n, SSA
SQUID inductor
Lsq, 1 L Lsq, 2 L Lsq, 8
Lsq 12. 5pH 100pH [ [1oopH ] 100pH
gradiometer N
M b 100pH Mb, 1 ’ Mb,z‘ Mb,s‘
100pH 100pH 100pH
. 777
Modulation
/ Feedback
Lfb 800pH o
Lfb, 1 Lfb, 2 Lfb, 8
100pH 100pH 100pH

044 8INPUT2O00000O0O0

SINPUT2 00000 SQUIDOUOOODO0OUOOO0OD0O0OOODOOUOOOOOoooOoo 8INPUTIOOOO
000000000000 4400008INPUT200000 SQUIDOOOODODODOOOOODOOOOOOOOO
O00oO0U0oOooooSQUIbOOoO0OoOoooUoooouooo

1. SQUID 00000

e SINPUT1 000
2.00000

e INPUT1 OO0
3. 00000000000
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¢ SINPUTIODODO

00000o0o0o0oOoooOoooOo SQUIbOooOoOoooOooooooooooooooooooooooog
00000000 800 SQUIDOOODOO0OOOOODOOOOOOOOOOOODO 8O0 SQUIDOOOOO
OO0SINPUT2 000 SQUID OOO0OOOOOO0O00000O0DO0DO0ODODODODOOOOODOODOOODODOOO0OO
SINPUT1 00000000000

423 8INPUT3 O

I I 1 L
Input 8 Ling, 1 L| n8, 2 Ling, 8
I I 1 L
Input 2 Lin2,1 Lin2, 2 i n2, 8
— o [ I — | R
Input 1 tint, 1 Linl, 2 Lini, 8
Lin 800pH 100pH 100pH 100pH
Rs Rs
Mn 100pH Mn1,1 Mni, 2 M nl, 8
100pH 100pH 100pH Li n, SSA
. v T v
SQUID inductor
Lsq, 1 L Lsq, 2 L Lsq, 8
Lsg 12.5pH 100pH T 100pH F 100pH T
A A
Mb 100pH Mb, 1 ’ Mb, 2 Mb, 8
100pH 100pH 100pH
Modulation 777
| Feedback
Lfb 800pH — — —
Lfb, 1 b2 Ltb, 8
100pH 100pH 100pH

045 SINPUT3OOOOOO

SINPUT3 OO 800 SQUID O0O0O0O0O0DO0DO0DODODODODODOOOOOOOO SQUIDODOOOOOOOOOO
045000000000000000O00COO0O0O0000O00000O0OOOOOODODOODODODOO0O0000
Oo0oo0o0o000 SQUID 000000 800000000000 1000000000000O000O00O SQUID
ooobooooooooooboOooooboooobboooooooooboOooDo

1. SQUID 0OoOOO
e8000000000DOODO
e 0000DDD000DD (000000 d=65 pum ) L, =100 pH (k=1,2,...,8)
000000 ¢ 1000 pm
00000000000 L =100 pH/8 =125 pH
SQUID 00 AI, =20 pA
2. 00000
e 0 SQUIDOOOODDODODOOOOD 10000000 800000000 100000000
e 000000000 Liy = 100 pH X 8 4 Ly in ~ 800 pH + Lg i
e SQUID 000O0D0D000O00O M, =100 pH x 8/8 = 100 pH
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3. 00000000000
e 0 SQUID 00OO0OOOODOOD 10000000800000000 100000000
e 100000DDOD Ly, = 100 pH x 8 4 Ly i, ~ 800 pH + Lg 11,
e SQUID 0D0DO0ODOOOOD Mg =100 pH x 8/8 = 100 pH

gL bbb DD D
00000 SQUID 00000000000 OoOooooooooon SQUIbOoOoOoO0oooooooooQ
SQUID DoooOoO0oO0o0o0o0o0oooooooooooO0oO0o0O0o0oUoOoOODODOODO000000 Ly OO0
0000OSNOD0OO0OO0D0OOO0DOoOO0OOoO (49 000

424 8INPIT4 O

Input_8 Mn. 8
Lin,8 120pH 120pH

Input 2 Mn. 2 Ra

Lin,2 120pH [Oj 120pH
Input 1 O

Lin,1 120pH O Rs Rs

Mn,1 120pH L Lin. SSA

SQUID inductor

Lsq 39pH

M b 120pH ?
Modulation
| Feedback
Lfb 120pH

0 4.6 S8INPUT4D0O0D00OODO

SINPUT4 00 100 SQUID OODODODO0OOOOOOOOO SQUIDOOODDOOOOOOD 46000000
oo0oo0ooOoo0o00 30000000 sbooooooooOooooobooooooOoboboOoooooOooobooooo
SQUID 00000 3000000000000 0000O0DOO00oOoDO

1. SQUID 0OOoOO

e 800000000000 (000000 d=25 pum) L =239 pH
2. 00000

e 100 SQUIDOOOOOOODONONONOD 300000000000

e J00DD0DODD Ly =120 pH

e SQUIDOOOOOODDOOOO My, =120 pH
3.00000000000

100 SQUIDOOOODOOO0ONONONOND 300000000000

e 000000000 Liy =120 pH + Ly,

e SQUID 0D0DDOODDOODOD Mgy =120 pH
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bbooboooooooobooboobooooboooooobooooooooooooooooooooooooon
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43 SQUID O OO 420-SSA

SQUID 0000000 D0OO00O0DDO0O 420-SSA (Series SQUID Array) 0000000 470000000
420-SSA 0000000000 0OC 410000000000000000O000O00O0O0OO0O0OOOOOOOOO
000 (0DO0000)SQUIDOOO0ODOOOOD0ODO0OODODOOODODOOOODO

nunnnununnnumuu
] = I 00w o e e o e
= 0000 0000 00000 0 e 0 g
. nrmnunnnrnnnrnnnLf
41500 ) ) ) e e e
} '—nnnnmrnnnrnrnmnr \ '-"
)00 00 060000 02 0 R et 0 D0 g 1+ 772

) 1 ) ) ) ) ) ) ) i o O O O
0 1) ) Q) 000 Q) o) e oo 0 o
4 | 0 ) o) ) ko ) o o e o e {0 0 O
S )R )0 ) ) 1) 1)) ) G G G g
] {050 o) o)) o)t ) ) ot e o )

\l 001 000 o o ) ot e ) o ) o
80308 ) 88 R ) 01000 ) ) ) e e K

047 SINPUT4O00O000OO

0 4.1 420-SSAOU000O0OOOOOOO

oooooo oo Value
oooo I. [uA] 16
oooooo Ry [ Q] 2.6
SQUID DOoOoooog L [pH] 90*2
DO000O0oO0O00 Be 0.49
000000000000 O 1.4
000000000000 L, [nH] 80*2
0OoooOooooon M, [pH] 54
oooo 5V [mV/22] 11
D00oO0ooO0oo Ga [V/A] 1400
0oooooo O 1 [udo/vHz]  0.18
0oooooo I, [pA/vHz] 7
1Sy amp=21nV/VHzO0O DO OO

2000

44 200 SQUID : 800 SQUID + 420-SSA

8§00 SQUID O 420-SSAO00C00000O00O0O00O0O0OOODO0O0OOO0OUOOOUODOOOoOO8Ud
SQUID + 420-SSA 0000000000000 0000O00O00O0O0O0O0O

8§00 SQUID O 420-SSAOO0CO0OOO0O 41000000000 Ly, OODOOOOOOOUOD L,O0,0080
0 sQUIboUOoOooOO [,0000OO00OO0O0O0 ,00000 R,UODODOOO L,0000420-SSA0000
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000000000 420SSA 0V, 0000000000000 004100000M, 000000 Ly, O O
0800 SQUIDODODOODOODODOOM,O000 420-SSA 0000000 420-SSA 0000000000
ooooQ

441 00O0O0OO

SQUIDOOO0DO0OO0OO0O ~GHzOOOOODOOO200 SQUIDOO 800 SQUID-SQUIDOOOOOOOO
Oo0o0ooooooooooo 800 SQUIDOOOOOODODOODOODOODODDODOD ¢—VOODOOOOOOO
420-SSA 00000000000 0OO0O0OO 059 D0000O00OOOOO 480000

Ra

La

—

Rs/2
é

77

048 O0O0OO0OOOOOOOCOOOOOOO

oooooooOooo vV, 0000000000 Z=Ry/2+R.+iw(L,+L)00000O0OL, = V,,/Z0OO0OO
000000 SQUID OO 420-SSA 0000000000 OD0OOO0ODO f,00

0.5R, + R, 100 nHY [ 0.5R,
= O T MH 41
Jo= g )~ 16 ( L. )(19) ” (4.1)

0000000000000 420-SSA00000000000000R000000000000000000
0000LO 800 SQUIDOODO0ODODOODOOOL, 0000000000000000O00O0R,O SQUID
0000000R,0000000000000R>R,0L,>L 0000800 SQUID R, O R/80R,/40 2
0ooooooo

442 00O
N —- My P, R, ly (A/D) M, Ve (MV/ O,

O, |[D] ZXZ R+2Ra lo (A®) A @, [0, ] o 0

1 | | |W]

(DFB Ta A

[®,] (@)

HVOUT
o [A] Reg

049 TSSOOOODOOO

200 SQUIDOOOOOOOOOD 4900000000000000000D0O00OODOOO ,OOODOO

Rs cI)in
L= (—" 1) =22 4.2
(Rs + 2R, q’) oo (4.2)
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00000000 RsO SQUIDOODODUOU0O0OOR,0 SQUIDOOODOODOOOOI, 000000000000
oooooon

41,
Is = “_ A/D 4.3
v M (13)
o002, 000000/, 0000000 ouooogog
2I.L
B = (4.4)

g

oo0oooooooooooooo 7,00

b, R, M,
T, = — Ip) =2 4.5
o, <Rs+21~2a ‘1’) o, (4.5)

oooooooe®,=7,9,000009,000 420-SSAO000O0OOOD £9,/400000000000O0

1

ML < 5 (4.6)
M -1
I, <18. A = = Al 4.
L<185 A (i) = Al @)

oo0O0oO0oOooD I,=185 pyAOODODOODOODODOODOOOO T,=10000

443 0O0O0O0O0OO

TESOOOOODOODODOO 50pA/vHzOODDOOO SQUIDOOOODODOOOOODOOOO 50 pA/vHz
0000000000000 000O800 SQUIbOOOOODODOOO 1,00

1 ® 2
_ Y n,array
1, L \/(q)n,gm) + (Ta ) A/V Hz (4.8)

0000000000®,g, 0 800 SQUID 000000000 ®, ey 0000000000000 420-SSA
D00D0000007,000 SQUID -420-SSA 0000000000 ®,8, 000 (2122)0000

9 _ 2ksT , 1)’ L 1 2
(q)n,Sin) - Rs L (1 + (1 + ﬂL) ) +4]€BTRa (}%S (1 + &J)) (49)

0000000 (490000 SQUIDOD00O000D00D0D00D00O0D0DOO SQUIDO000O00O0oooooo
00000000000 0000oOoooooosSQUIDOO00O0OOO LOoooooooosSQuUIboooood
000000000000SQUID0OOO (D0D)0000000D0000D0DoOoOooooO

444 800 SQUID +420SSA000000O0OOOO

SINPUT1-40000000420-SSA00000O0O000000O0O0O0O0O0O0O0O0O0OOOOOOO 420000
SINPUT4 0000000000000 O0O0OO0ODO SQUID OO SINPUT4000000O0O0O00OOOOODOOOO
000o00o0o0o0ooo0o0 7,000000 420-SSAO0000000000O0OO8INPUT40000000
0000000000 420-SSAO0000000O00O0O0O0O0OOO0UOO0OD 300 200000000
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042 800 SQUIDODOOOOOO

SINPUT1 S8INPUT2 S8INPUT3 SINPUT4

ooooooe x x o o
FLLOOODOOODO? o o o o
0000000 x o x x
800 SQUID

0000 I, [puA] 10-20 10-20 10-20 10-20
SQUID0O0O0O00O 12.5 12.5 12.5 100
000000 R [Q] 2-4 2-4 2-4 2-4
0000000 Rq [Q) 2R, 2R, 2R, 2R,
B 0.18 0.18 0.18 1.4
Be 0.61 0.61 0.61 0.61
M, [pH] 100 100 100 100
Iy [nA/ D] 51 51 51 24
00000 [udy/vHz] 0.30 0.30 0.30 0.72
420-SSA

M, 54 54 54 54
00000°¢ [udy/vHz] 0.40 0.40 0.40 0.40
TSSOOOO

AI(R, = Rs/8) 20 20 20 9.8
oooo T 1 1 1 0.5
AD, 0.53® 0.53® 0.53®¢ 0.26®¢
00000000 [udo/VHz] 0.50 0.50 0.50 1.00
0000000 [pA/vHZ 10 10 10 20

¢ 000000000 SQUIDODOO0000O000oo0oooo0onoo
goo0ooo0ooOoooooooOoooo

. FLLO SQUID 00OOO0O0O00000000O0 14+£00 100000
0000000000000 00D00000D00SRIDO0000DDO0O0DOO0Oo0D

¢: TESO DCUOO0OO0OOOOO0ODOOOOOOOOODOOOO
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8§00 SQUID OO ODOO

00000000 00o00ooO00 800 SQUIDOOODOUOOOODOUOOOUUOOODODLODODOODDODOOOOOO
0000000000000 000000000 Is000000000Mo0ooooo SQUIbooOooo
ooboooooog

O0o00oO0oU0oo0oO0oU0O0oO000O0oO00OoU0OO0000O0DO0UDO0O00D0OUO0DOUTESO
gobooobooooooooboooooooooooooobooooooooooobOboooOooooDOOoOobboOoOoonn
0000000000000 0000000800 SQUIDOODODOODOO0DO0UoOO0DoOo0ooUooooDOoO
gobooobobooooooooooooOoboooooOoOobOoOoOooOooOoOOoOobOOoOoOoOOoOoDbOboOobOoOOoonn
0000000000000 0O08OO SQUIDOOOOOOOSQUIDOODOO0DO0DO0DOoooOoOoooooooooOo
000000000 ooOoooOoooooooSQUID 0000000 oooooooooooouoooooooo
gobooooooooboooobooooboooooobooooobooono

0000 4000 800 SQUIDOOOOODODOOOOOOOOO SINPUT20O8INPUT3 ODOOOOO
gooo

51 800 SQUIDOODOOO

0000000000000 DO000OO0O000O0O000000 §5.1.1 000000000000 800 SQUID
0000000000000 00O00O00000O 420-SSA00000000O0O0O0OO0OO0OO0O0OOOOODOO0
0§5120000 420-SSAUO000000O0O0O0O0O0O0O0O0OOS5.1.30 800 SQUIDODOOOODOUOOOOO

511 0O0OO0OO0OODOODOO

0000000 8INPUT2 OOSINPUT3 000000000 51000* 0000 800 SQUIDOOOOO

0 5.1 SINPUT2O00S8INPUT3 OOOOOOO

Input O ooo 000000000 0000 Ra
SINPUT2 O0OO0OO0OO PbInAu R,/8
SINPUT3 oooo Al R,/8

00000000 420-SSA 0000000000000 0O0OO0O0OO0OUDOOOOUOOO0OO 800 SQUID OO
00000000 420-SSAO0000O0O0O0OOO FLLOOODOOOOODOOOOODO#20000000000
0000000000000 O00 DL750 Scopecorder O 35670A FFT O OUO0OOOOO0O0OOODOOOOOOOOO
oobooooooooo s10b0o0oo0o0oboooooboo

1 0DooO000O0 TESOOOOOOOODO0OO0O0OO0O00000000000000000000000000000C00O000PbInAu
ooo0ooo0o0boo0o0o0o0OO000O000000000000000O0O000O0O00O0O0O00O0O0O0O00O0O0COO0OO0O0O00OO0O0C0O0000
ooooooo
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SQUID bias Series-SQUID  bias

1b2
V_SSAn
Vout
———————————————————— V_FFT

420-SSA | AmpA| AmpB

i ,,,,,,,, s ' f <thi_SS)A,n

Mmod Mfb,SSA 7;
Moduration Feedback Rfb
coil cail M,

$ ¥

051 800 SQUIDODOOODOOODOOOOOOD 420-SSAU0O0O00OUOOD0OOOOFLLOOOOOOO

512 00 420-SSAO00O

00000 420-SS00000000000 800 SQUIDOOOOOOOOUOUDOOD 420-SSA0O00OOO
00000000000 (Monitor Mode)DOOODODODOODOOODDOODOODODOODOODOOOODOODOOOO
(Measure Mode) 0D OO0 O0000000D0DOO0O0 -V OO0O0DO0O0000000O*00000000OO
000000000000 A=600b=5000000 420-SSA0O0000O Ve=24mV/,0 00000000
ooood

Pgsan <be SSA>_1
I, =7pA/vV Hz 2 : 5.1
b PA/ 0.18 udy/v/ Hz \ 54 pH (5-1)

oooo

000000000000 0O00Oo0O0O0O000 SINPUT3 OO -V ODOOO 52000000000 SQUID
00000 VpssaUOOOD® =9,/20000000 (0D000ODDO0O0DOO0OO0)000000000DOOOOO
VossaO0OOO 5200000000000000000000000000O0000O0O0O000O00O0O0O0O0O0OO
00000000000000 10kHzOOODOOODOOOOO 5.3008INPUT3 000000000 O0O0O0OOO
oooooooooooooo s200000FLLOOOOOOOOOO

r— Vo, 554 AMe, ssA

e (5.2)

000D00D0SQUID D0D0D00000000 VesanDSQUID 000000 ®gsx,,000000000000
00 Ly, 00000

AB
Vssan =W 5.3
T /584 FFT,SSA (5.3)

Vo ssaPssan = Vssan (5.4)
Min,SSAIsq,n = (I)SSA,n

*2 000000000000 0000 510 Amp AODOODOOODOODOOODOOODOODOODOO0O0O0O00O000OO0DO00
0000000000000 00000000000000000000000RkHz00ODOOODOO0OODO0OO0O0ODO0OOOODOOO
0000000000000 510 Ry 000000000000 DOO0DO0O000O0OO0ODOOOO
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—_———————n 200K8/s - Sniio value at 10 kHz = 1.561e-06
routine12.qdp
TIE L e I B ) B
File Item 10-3 = .

CHZ  500.6mV/div

T FETAITY
iz 2500, 00

Uaveform

Tata Tupe
ASCIT

Save

Noise (V/sqrt(Hz))

107 ¢ 3

Utility

: : -8
P-P (C1) 1132.83n0 fAug- (C1) ~25.4446nY PP (C2) 1980.6nU 10
430. 00w

Augs6EAN-59 . 2362 ooy 10 100 1000 104 10°
Rumning 12609 Edge CH1 EX

(1 2006/12/09 22:54:58) Auto ©.00mY 2006,/12/09 22:54:59 Frequency (Hz)

052 00000000000O0O0O0O00O000 ¢—-VOODOODOOOOO0OO0O0OO0O0O000 VouwDOODO
0000000 $ssA000000 Vo, 000000000000 00000000D000000 VeprO

0000000000000 0D00000D00000D Ax1/f000050kHz200000000000000O
ooo

AB _AB  RyB 56)
1+L L Vo, ssa M, ssA '
gooooa
VErT, 55 Mty ssa Ve ssa
Vasan = d d : 5.7
SsA, RuB (5.7)
VrrT,55A M, ssa
Bysap = —1 L : .
SSA, R B (5.8)
VFFT,S5A
Iogn=—F77">-— .
q, beB (5 9)

00000000000 Miy,ssa = Mpssa 000000000000000 530000
00000000000000000000000000000000000000000000000 15-30%
00000000000000800 SQUIDO0DOODO0O0O0O0O000D000000000000000O0 420-SSA
00000000000000000000000000000 800 SQUIDOR, 0000000000000
000000000000000000000/00000000000000000000000000R=24,
T=42K0O000O0O0000000000000000000

4kgT

Isgn =4 =————— 5.10

q, Ra +Rs/2 ( )

~ 12 pA/V Hz (5.11)

goooooood
4kgT

Isqgn = 5.12

sq, Ra ( )

~ 30 pA/V Hz (5.13)

0000000, 000000000000000000000000000000O000O00000

513 00 800 SQUIDOOO

0000 800 SQUIDOUOODOUOOOSQUIDOODOOU0OOOOUO0LoOoUo0oooooooouoo
goboobooooooooooooooobooooooobooooooooOoooDbboooOooooOooOobboOooonn
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052 00 420-SSAO0O0O0OO

ooooo SINPUT2 SINPUT3
000000000000 Iap [ #A] 52.8 37.3
SQUID 0000 Vpp,ssa mVp,/22] 4.64 6.60
0ooooooo Vo,ssa [mV/®g] 14.6 21.2

053 00 420-SSA 0000

ooo Condition Mode 00 Veer Vssaon Vo DssAn Ign Loop Gain
pV/VEZ)  [nV/VEZ [mV/®)  [udo/VEZ  [pA/VEZ]

8INPUT2 FeedBack OFF Monitor 3.12 10.4 14.6 0.71 27.2
FeedBack ON  Monitor 1.09 11.9 14.6 0.82 314 2.28

Measure 1.56 11.9 14.6 0.82 31.2

8INPUT3 FeedBack OFF Monitor 4.16 13.8 20.7 0.67 25.5
FeedBack ON  Monitor 1.10 15.6 20.7 0.75 28.8 3.25

Measure 1.51 16.4 20.7 0.79 30.2

0000 8INPUT2 OO 10 kHzOSINPUT3 O O 1-100 kHzO OO OO (gaussian fit) 0000000000000

0 Ic0000000000000000 [,00 SQUIDOOO0OO0O0O0OONONOOONONOOONONONOONONONoon
0 TESOO0O0O0000O000000000085.1.20000000000000000000420-SSA00O0
0000000000000000000000000

00000000000000 FLLO 420-SSA00000000000000000000 I, 0000000
0/-V00O000000000000000000000000000 ®=000000®=&,/2000000
000 200000000 510000 800 SQUIDOOO L,, 0000 V,uOVepr 00ODOODO 5300
0&~®,/2000000000¢-V0O0O00000LOV,, 000000000 R, 000000000 800
SQUID OOODOO0O0O0O0

Vvout

—
—

I, =
‘/sq = IR, (515)

00000000000000000000000000000 14, 0000000 VOO 54000000
000042000 FLLOOODOODOOODOO E=50kV/A0D0O0OOR,=R/8000R,=2Q000000
0530000000000000 800 SQUIDODOOOOOOOOD R,O0D00OODODODO IbODODOOODODOO
000000000000000000000 Issq 00000000 54000000000000000000
00 530000000000000 Issq000000000 420000000000000000000000
cooboooobooobooooooon

00 800 SQUIDOOOODO 0000000 Ry O

Lg=1Iy—1I, (5.16)
Veq

Ry =
q Isq

(5.17)

0000000 Iy — L05y — Lq0Iq — VaqOleg — R 00000 5400 5.50000/-V 0000000000
00 SQUID 0000 Rey, 0000000000000 Iyq—Veq 000000000000000yq— Raga 00
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200kS/s  SnsAtiv

M2 500.0mUrdiv =y Normal
1

EEIITY

(eI CHL 100, 00nU dliv
oz 2800, 040 0C it
Bl Full

.EH2 500. Dmid:

la [HA]

P-P (C1) 996.06mU Rugi (€1 -22.9567nd PiP (C2) 1189.ZmU
Aup=EEZdy 782 . 638 oo 450 00ns
Running 3 Edge CH1
(- 20061209 23:57:26) Auto 0.00my 2006/12,09 23:52:2?

value at 10 kHz = 8.514e-06
routine27.qdp

Noise (V/sqrt(Hz))

107 E : 4

10 100 1000 104 108
Frequency (Hz)

053 00000800 SQUIDOOUOODOOOOD ¢—-VOODOOUOOO0D® -, 0000000000000 Verr

054 00800 SQUIDOOOOODO

Dooon SINPUT2 SINPUT3
000000000000 Iy [pA] 50.1 39.7
SQUID 0000 Vopisa [V pp/ 2] 6.55 6.00
oooooooon I sq+ [HA/Po] 100 48

Ig sq,— [1A/®0] -50 -74
0ooo I [pA] 20 17

000 s6000000 540 Iy —1,00005,-1,,00000000000000 Ig,, 0000000000
000000000000 000000000000 SQUIDD0D0D00D0000000000 SQUID OO Iy
00o0oo0o0oO0o0o0o0boo0o00o00nL 0 I, 00000000000000 5500 @=00000 Iyq— Vi
oo00oooooo0 [, 0000000000000 00000000 5400008INPUT2 00 SINPUT30ODO
000000000000 000000000 420000000000000000000 SQUIDOOOOO
00000000000 0000000000000000000 55000 SQUIDOO 00000000
0O0SQUID 00 R, O0OOO0OO0DOOO0OODOOO0ODODOOD 5600000 RyyoO0 1 0000000000000
I,,—-V,qOOOO0OO0O0O 2000000000000000000000000000 L1,y O0OODOOD0O0O0O0O
gboboooboobooooooooooooooboooooooboooooooOoOooobOboooOooooDOoobboOoonn
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000000000000000000000 40000000000000Ls=4% 00000000 L,0O
00000000 5600000/, 000000000000000L,~25pA00000000000000
0000000000000000000L,,0Veer 00000000000 &;,,0000000000 fiy, O

(bin n — VFFE <518)
’ Iaq>:
(I)in n

finn = —— 5.19

T (5.19)

oooooooo 570 I Ooooooooo ¢,,0 4, 000000000000000 0000000
0000000000000 ,q=30p,A00000000000000SQUIDO000O00O00O0O0O00O0O000
00000000000000L,e0000000000O0O0SINPUT2000 1 =78.0pA0Iy=30.8pA0
O00000000000000Lip, =224 pA/\/IEDSINPUTSDEID Tgb1 :_66.8 pAO Iy =290 pAODOO
Iin’n:14.4pA/\/IEDDDDDTESDDDDD 50pA/\/}EDDDDDDDDDDDD TESOOOODO 0.400.3
O0000oO0oooOoooooo TESOOOO SQUIDOOOOOOOO0oOOo0oOo0ooooooooooooo

o0 10-15% 000000
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1o [MA]

lpy-15 Curve
80 T T
Type2 Phi=0 ——
70 - Type2 Operating —— .
Type3 Phi=0 ---+-- /
60 - Type3 Operating --f]-- /Zr -
50 - /
40 A /r
30 A
20
10
OFHEHH=
0 20 60 80 100
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120
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45
40 et :4——0-_4-/4%"
% g PRSI ST h
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25 |—,|
20
15
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n[ Type2 Operating —=—
° Type3 Phi=0 ---4--- |
Type3 Operating ---[]--
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0 20 40 60 80 100 120
Ipa [WA]

054 0O0O0OODOOODOOOD L OOOOOUODO LOODOL OOOO 800 SQUID OO I4O; 000
SINPUT2 00000 SINPUT3OOUOD ¢=00000000000000

Vsq [HV]

Rdyn [Q]

Pin,n [1Pg/sqrt(HZ)]

Isq-Vsq Curve

T T T T -
Type2 Phi=0 —}— L—'l}];-
18 " Type2 Operating —3— Ellj H +
16 | Type3 Phi=0 ----- T+ _I
Type3 Operating --f=]-- IZH :
1 ype3 Operating -- ] i /
12 :
+
10 ; _’_
. iR B
6 3 i
: g ]
2 s + +
-k ¥
oFR ] m o =y
jun) un) = +
5 10 15 20 25 30 35 40 45
Isq [MA]
0 5.5 DDISqDDDD SQUIDDDVquD
Isq-Rayn Curve
12 T T T T
Type2 Phi=0 —— +
Type2 Operating —=— :
10 Type3 Phi=0 -+
Type3 Operating --{=]--
8
6
4
2 f
Ot = FH == A
0 5 10 15 20 25
lsq [WA]
Isq-Qvan Curve
1000 T T T
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L_a\ Type3 Operating ---E-]--
100
10 o <
e
! 5]
0.1

Req [

1ap(dl/dD) [LA/DG]
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05 Type3 Phi=0 -+ g
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52 OO0O0O0OO0OOOOODOODO

000000 SQUID 000000000 oO0O00oo0O00oOoO0o00oOO0o0D0oOO0o0ooDoOoOO0O pHOD
00000000000 107 00000000000000000000000000D000000O00000O0
0000oo000oooO00oooO00oOoOo00oODOO00OO0O00OO0O000ODO0O00ODOO00O §5.2.1
0800 SQUIDOODOOODOOODOOOOOODDOOODOOODO0OOOOO0Dgs2200000000000
00§523000000000§52400000000000000000 8INPUT200SINPUT3OOOOO
00000000000000 4000000 800 SQUIDOODOODODOOOOODODODODODODODOODOOOOO
cooooooboOoobooooooooooooo

521 O00O00O0OODOODOOOOODOOO

8INPUT2 O
Lin,1 Min,1-2  Lin,2 Lin,8 @
6.4nH _—— 6.4nH 6.4nH Ra
lin,1 J Im,ﬂ 4,74
| | =] Rs
Min,1 Min,2 Min,8 Rs
800pH 800pH 800pH Lin,SSA
| V
Lsa.1 U Lsq,2 i lsqs |
100pH {*‘ 100pH ’ Egggtiy—’
Isqg,1 \ Isq,2 A 1sq,8
Mfb, 1 ’ MMZ‘ Mfb,8
100pH 100pH 100pH
t}ﬁJ LWFJ :
Lfb,1 Lfb,2 Lfh,8
100pH 100pH 100pH

0 5.8 SINPUT20000000O

0580 SINPUT200000000000000000 1000 Lip,=100pHOO0000 80000000
0000000000000 Ly, =64nHO0000000 k=1,2,.,80000000000000000000
0D00SQUID 000000000000000 Lg,g = 100 pHO Ly, = 100 pH OO ODOO0DO0O0OO0OO0OOO
O00D0000000 8000000000000 000000000000DD00000DDoo0ooooon
Lg, =800 pHOSQUID 000000000000 0000 Ly =125pHO00000000000O0DO0O0DOOO0
O0000SQUID 0000000000000 000D000ND000N0ND000NDO000N0DoooNoonoooon
01000000000000000 SQUIDO0O00000000000000 Mink = +/Lin,kLsqr = 800 pHO
000000000000 SQUIDO0000000000000000 Mk =+/LekLsqe =100pHO0000
O0D00D000 SQUID 0000000000000 0000D000D00D00DO00DO00oog SQUID OO
O000000000000000D00000000000000000000000D0000D000000000
000000000000000000000000000000 10000000 2000000 20000
000 ¢,,0000000000 1200000000000 Min1-20 ®ipo=Mpn1-2lq1 00000

000000000000 0000FLLOOO0OO0O00000000000000 100000 w0 Ly, 00
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0000000SQUIDO0OO0O0OD 100000000 ¢, 0000000000 Vi OO
(I)sq,l = Min,ljin,l (520)
Vsq1 = —iw Min 11in1 (5.21)

0o0oooo 590000 SQUID 00000 100000000 Zz00O0O0OOoOoooooooooo4ooooo

Rs

Lin,SSA

059 SINPUT2000000 20

0001000000 Ly, 0
Vvsq,l

5.22
Z.stqJ —|— Z ( )

Isq,l =

00000TESO0O0000000000SQUID 000000000000000000000000000000
000000000000 R =2Q000000 420-SSA000000 R,~1-2000 SQUIDOOOOO0O
0000D0000000000000000 Z=%%2p0pQ0po00000 80000000000000000
0000000 Leg = Leg2 == Leqs 000000000000 10000000

‘/;q,l 7 Min,l

=T 5.23
SiwLeq1/T 8 Lggs ™ (5:23)

Isq,l =

ooooo 2-g8000000O0OOOLDO

1 My
8 Lgq1

ISq,Q = ...= Isq,g Iin,l (524)

oooooooooooo 200000000000000O0O0COODOOODOO

1 Min Min
Din2 = Minolsg2 = *#Iin,l (5.25)
8  Lgg
Min1 \? /100 pH
Min1-2 = 800 pH : 5.26
12 P (800pH> ( Loq (5.26)

gooogooo
OO0 FLLOOOOOOSQUID 0000000000 oooooooooooosSQuUIDoOooooooooon

ooo
D1 = Min1ling — M 11p, (5.27)

0000070 SQUID 00000000000000000000 (52000 ®,: 000000 10 [y, 00
000000000000 10000000000000000000 1000000 (5.23)000000000
ooooo

1
(I)sq,l,total = gMin,l-[in,l (528)
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O

50 800 SQUIDOOOOO

gobooboobobooboobooo

(I)sq,2 = qu,QIsq,Q =

1
Min,11in1

g (5.29)

0000006, 000 SQUIDOOOOO &=Mi,:1l;,,,00000000000000 SQUID 0000 &g
0000000-£L,,00000000000000000 SQUIDOODOO0OO0O0O

LDy + P = Dy (5.30)
000000 0o0o0ooobo0obD £LOo0DD0DOO0OOO0ODDODODO0O00O000O0OOUOO
o Min 11in 1
b, = = : : 5.31
114+ L 1+ L (5-31)

0000000000000 0O0O00O0 8UD0O0O0 SQUIboOOODODOOOODOOOOO0DOoOOOoOOoOooOoOO
00000000 SQUID 00000 20000000000 1/8000000000 200000000000

0 Min1/Lsqa 0000000

1 Min1Ling Min

Dip2 = 5.32
in,2 8 1+. qu,l ( )
oooOoooooo
800 M, \? /100 pH
Min1-2 = —— pH 1 (5.33)
1+L 800 pH Leq
oooo
8INPUT3 O
I T — |
Lin8,l Li n8,2 L n8,8
in2
I I — |
Lin2,1 Lin2,2 Uin2,8
s @
e s [ — | Ra
Min,1-2,1 \Linl,l Lin1,2 Lin1,8
100pH 100pH 100pH
R
Min1,1 Min1,2 Mini,8 S Rs
100pH 100pH 100pH Lin,SSA
v 17 T v
Lsq,1 L Lsq,2 L Lsq,8
100pH ‘ 100pH L 100pH F ‘
Isq,1 Isq,2 \ Isq,8
Mfb,1 ’ Mfb,2 ‘ Mfb,8
100pH 100pH 100pH
t‘ J L J E 1 )
Lfb,1 b2 Lfb,8
100pH 100pH 100pH

0 5.10 SINPUT3ODOODOODO

05110 SINPUT3 ODOOODODOO0O0O0O0OSINPUT200000000000000000000O00C0OOO
00800000000 1000000000000 ODO0O0ODO SQUIDOOODODOOOODUoOoOOoOoDooOO
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0o0oo0oooooooooooooo 8sINPUT2 00 0000000000000 000O00O0O0O0O0OOO0O0OO
goboooooooooocooboOooobooOooooocOoOooboocOoooboOooobooOoooOoOOoOoOooOboOooDn

1. 00000
e Ling: =100 pH (k,1=1,2,...,8)
e L;, =800 pH
e Ming,1 = 100 pH
2. 0000000000
o Lg, , =100 pH
e Ly, =800 pH
o Mp,; =100 pH
3.8QUID 00000
o Ly, =100 pH

000 Ling,OMine,, 000000k00000D00000O000 800000000 70000000O0000000
oooolooo SQUID 0000000000000 00oooOO0000oooODOO000D0UOoODODOOOO
gobooboboooobooooobooooooooOoooooobOooboooOoOoooboo0ooOoOoOoDbOboOobbOOOonn
oo1wopHOOOOOO0OO0OOOODOOODODOOOO0OOOODODOOODOOO0O0OO0OOODOOOOODOOO00O0000O0O
0000000000 Mipni1—2,=100pHO0000000 800000000C00000000 Miy,,1—2 =800 pH
gooao

OO0 SQUID 0000000000000 0000O000ooo0o0o0ooooOo&8INPUT2000000000
00000000000SQUID 00000 100000000 ¢, 00000000000

q)sq,l = Minl,lIin,l (534)
‘/sq,l = _iWMinl,IIin,l (535)
oooOoo Minl,l = Min1,2 = .. = in1,8 gooooo (I)sq,l = (I)Sq72 = .. = ‘I)Sq,gm ‘/;‘q,l = ‘/5%2 = ... = V4q,8 oad

gobooooooooooooon

Lin,SSA

Lsg1

— peifl
e e e

0 5.11 SINPUT3OOOOOO 2

Vvsq,l
8(Z + Rs) + istqJ

I = (5.36)
O0000R, = R/8000R, > R, +iwlingsa (f < 35MHz) 0000Z ~0000000000000
SQUID 00000000000 Iyt = luqa = - Jugs O

twMin1,11in 1

— D 5.37
SRS + istqJ ( )

Isq,l =
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00o0ooooon 000000000 200000000000000000000000

wMin1,1Min2,11in,1

(I)in = Min Is = - A 5.38
2,1 2.115q.1 SR, + iwLeqy (5.38)
iwM2, | iwM?
Mini—21=— s~ n 5.39
2T U8R+ iwleg 8R, (5.39)
‘ f Mw \2/2Q
~ —7-0.3fH A
003 (100 kHz ) \ 100 pH R, (5-40)

O00000oooooooSQUID oooo00oooooooo0o00oooooooo0oooooooooooO
OooooooooooooboooooooooDo
OO0 FLLOOOODOOSQUID OOOoO0oOoOooooooooooooooosSQuUIbooooooooooo

goo
Dyg1 = Min1,1din,1 — M 11p, (5.41)

O000O0OFLLOODOOOOODO £LO0O00ODOO

In, = H%Isq,l (5.42)
000000 M1 =Mgp, 000000
Dgg1 = L]\/fin1,1fin,1 (5.43)
1+ L
0000000000000000000000000000000000000000000000 1/(1+4£)0
00000000 ,
Min,1—2,12—7:-0.31_’1_£ fH (100kaZ) (10]\04ipH) (2;) (5.44)

000000000000o0o0o0ooDoDD0o0O0O0000 Min1-—2=800/(1+£)pHOOOO

522 00000OODOODOOOOODOOOO

§5.2.100 0000000000000 000ODOO0OO0OOUUO0OUODO0OO0OO0OOOOOUOUOUOODOODOOOOO
0go0o0o00O00d00o0DOO00O0000ooOoO0bO0D00o0O0oODO 1000b0oO0bO0o00oO0oOobLbOo0ooOoO 20000
goooooobooobtboooboboooboooboboobobooobboobbooobooobbooboo
000 100pHOODODODOODODODOODOODOODODOODODOODOODOODOODOOOOOOOOOO0OO0
000 420-SSA 0000000000000 0000DOOO0000OO0OOOO0O00OD0OO0UOUOOOoOOOOoOn
0000000000000 00000000000O000O00DO00DOO0ODDO0ODOO b120000000000
godoooboooboooooooon

U0 SQUID UOUOOUOOOOoonO 200 420-SSA00000000D0O0ODOOODOO 800 SQUIDO
420-SSA 000000000800 SQUIDOOOOOOD 1 0000000000000 0UUUOUOOOOOOoO
00000 20000000 420-SSA000000000O0O0COO0O000000O0OOODOOOOOOOO0OOO
000000000000000000000000000800 SQUIDOOOO0O00 1000000 Li,;00
000800 SQUIDOODOODOO 20 420-SSA00000000000000D0 Vi O
_0%in Alin,1

dt dt
ooooooo ¢,, 000000 20000000M,,,-.000000 1000000 20000000000
godoooboooboooooooon

Vina = = —Min1-2 (5.45)

dlin 2 dlin 2
Vvin = Iin Z Lin —= Lin ’
2 22 + Lin2 oy + Lin,sSA a

(5.46)



5.2, ODODOODOOODOODOODOO 63

series-SQUID

|

| inputl
| SQUID bias

|

lin,1 420-SSA

I
I
|
|
|
| !
Vout,8in . SQUID
O—— |
! amplifier
I
Amp A |

|
|
|
|
o
N
N
ol
souo V|| Vout,SSA
! O
amplifier
! i

I
| ! multi input
I ! | SQUID AmpA Amp B
o %
|
| | Mfb,8in
; FeedBack 1
| | coil FeedBack
Y S A [<o!| I R
' VW —o
I Rfb,8in
|
|
300K I 4.2K 300K

0 5.12 420-SSA D000 800 SQUIDOOODODOOOOODOODOOOOOODO

000000000 I, 000000000000Z00000000000000Li(,,000000 2000
00000000 Lingsa 0 420-SSA00000000000000000000 Iy, =le® 000 (54500
(5.46) 0000000

—itwMin1-2Lin1 = (Z + iwLiy 2 + iwLin gsA) fin2 (5.47)

I, O0OOOoOono .
Lino = Z+iW£:,J2W‘i|r‘L;W2in7SSA Iin (5.48)
gl = o Miaa) (5.49)

" Z12 4 (WLing + wLlingsa)? ™

oooooooo L, OOOOOOooOOoO0o0oo0o0O0OM,,:-. 000000000000

Min1-»0§521000000000 pHOOODOOODOODOO SQUIDODOOOOOO L, 000 pADO
00000000000 L, 0DODO0O0O0D000D00000000w(Line+ Lingsa)>Z00000 pADZ O
000000 mQOOO0OO0D0DO0OO0~107¥x (000 f=100kHzOOOOOO nA)O000O00ODOOODO
gbobooooooooooboooooooooooooooooooooooooooooooooobobooood
gobooooooooboocoobooooooa

523 O00O0OO0O0O0ODO

$5.220000000000U0000UODODOOOOOOODOODOOOOOOOOOUOUOUOOUOO nADDOO
gooboooobooboboooboboobobooobboobobooobO oL bbb ooUobOboOoo
goodddooooooooo

O000O0OoOooo SIIoo SQUID U000 0000000000000 0000 000 7280200 DSP
000000000 Agilent Technologies O 0O 355 COD VHF Attenuatord O 0O O 33120A Function Generator[
nF 0000000000 Function Synthesizer 19150 Tektronix 00O TDS 510A 0 0000000000 0OOOO
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hp / Agilent Technologies O 35670A FFT 0000000000000 O0O0O0O0OOO0OODOOOOOOOOOD
oooo

SQUIDOUOOO#200000000000000

0000000000000 000UUUD0ODD #2+0000000000000D00O00DOOODOOOOO0O
00000000 s0QU0000000000000000000 200000000000 DsuwbOODOOO
oooooOoOoO0O0O 2000000000000 1kHzO0O0O0O0O0DOOOOOOOODODODOO 300000

Lock-in Amp Head Amp Control Unit Lock-in Amp
In Ref | | In out In  out In  Ref
I L
5 5 7U7 50 ohm 5
50 ohm

0513 00004#20000000000000000000000000 50Q000000000000
gooooooooooooooboobooooo

00000000000 AC GainO Time Constant0 000 1k HzOOODOOOOOOOOOOOO 5140000
000 AC Gain 00000000000 D0DD00000D0ODODOO0 ACOO0OO0O0ODDODOOO*0 Time Constant
00000000 Phase Sensitive Detector 00 0000000000000 0O00O0O0OOOO0ODOOOSNOOOOO
D0000000*0AC Gain 00000000000 Time Constant 000 0000000000000000O
0000000000O0000000 50000000000 (D0.9nV/\/E)DDDDDDDDDDD20nV
000000000000 00000000000000000000OTime Constant 000000000000
0000000000000 0bOo0O000o0O0OD0 ACOOODUDoODOOO0D0DOODOO0DDODOOO0DODOOODODOO
#200000000000000000000O00C0O0O0O0O00O00O0OCOOOOOOOOODOODOOOO0O0OOO
0ooooooooooooooooo0oOooooooooooooo30ooooooooooboooooooon
00800 SQUID DOOOOoO0OoOoO0oOOo0o0o0ooooo0ooo0ooooooooooooooooooDOoo
000000000 AC Gain = 10 dBO Time Constant = 1 s DO 000000 #2000000 200V OO0
0000000000000 0000000000D0000O00 ACGainOO0O0O0O0OD0OO0OO0O0ODO0DO0DOOOOOO
ooobooooooon

00000042 0000000000000000000000DOOO0DO0DODODOODODODOODOOOOODOO
0000000000 1kHz2O0O00O0OO0OO0O0O0O0O0O0O00OO00O00O0O00OO00O0OOO00OOOO0ODOO
D00 515000000004#2000000000000000000000000 Wiy =100 pV,,—1uV,,
goo0oCOO0OO0O0O00O00O0O0O0O0oUUOoUOUOUOoUOOOO 100O11I00120dBOODOODOOODOODODODOO
0000000000000 D0D0000000 AC Gain O 46 dBO Time Constant 0 1 s 0000000000
oo0oOg sl6e00boooooboobooboooooobooooooooboboooooboooboobDOoobOoDOoon

*3 ACGain 00000000000000000000000000000000000 Phase Sensitive Detector 100 DC 0000
00o0ooosSNOOO0O0OO0o0O000o00o00o0o0ooooooo0ooooooooooooooonao
*“ 0000000000 SNOOOOOOOOOO0000000000

goood goooo 00000 x Time Constant
SN O x = =
ooo 2x00000004d 2

000000Time Constant 0 0000000000000 O000O0O000DO00ODOOO0ODOO0O0DOOO0OO0O0OOOODOOOOOO
0 Time Constant 0 5-7 0000000000000 0O00000O00OOODO 1000000000000
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Noise variation by AC GAIN Noise variation by Time constant
105 T . T . ! 5 1078 pr—r—r
: B 50 Ohm terminate 3 BK © m 50 0hm terminaté
«* X #2input=GND short ! g - © X #2input= GND short
106 fe-oee-- | SR TR P ZECEERPRPRPRIS RETERPE - 1076 Boeeeeneies P PP .
E : : ] E K : E
s s : ]
3 3 ]
> : L] : > : ! : A
107 feeeee R R RAALCRTETE [RLPREY RREPEPRPRPE Beeeees 5 T el ELRATERTEEY SELPPITPLRPIEPIPRE: e ><_
108 i . . i * 108 b .....* . ......1 TR BRI
20 40 60 0.01 0.1 1 10 100 1000
AC GAIN [dB] Time Constant [s]

0514 0000 #20000000000000000000D000AC Gain 000000 OOTime
Constant = 1 s 00 0 Time Constant 000 O00O0OO0AC Gain =66 dBOm 0000000000000
50 Q0000000x00000420000000000000000000000

g;rw]grt;?gr Attenuator Head Amp Control Unit
Sync Out In  Out In  Out In  Out
Lock-in Amp
Ref In

0515 000042 0000000000000000000000000D0O00O0O0OOOOOOOOODO
goooooooooooooooooboooooooo

gobooobooooooocoooooobobooooooOoooon l/ﬂDDDDDDDDDDDDD 50 QUOO
00D000D000000000000 2y20000#20000000000 G=300000000000000
200nVppOOO 1 0000000000000 0DOO0DOOO0O0O0ODOODOOO0 GNDOODOOOOO 100000
000000O00DO000120dBO000O0O0O0O0O0O0O0OOO/O00D00O0 100000 120dBOO0OOOOO
goboooboooooooobooooooobooooooooboooooooboooDbboooobOoooDOoOobDbOOoDo
oooooboobooo 20nV,, 00000000O00D0O0DO 14V, 00000000000 1.1V, 000
O00o0100nV,, 0000000000000 O0OOO0OOGOOOO0

00000000000 110dB0O 120dBO0O00O0O0O0O0OO0O0O0O0OO00O0OO0O00000O 200 mV,, 000
gboooboooocobooocoboboooboobooboooboOoOoooboOoOooobooooboooobooooa
0000000000000 0000000D000D00D0000000O000D00D00ODO0ODOOD (5.40) 0
oobooboobooooooooooooOooOOoOoOoo0oOoOOoOoOOoO0OOOO0OOOoObOO0OOOOObbOOODnn
gobooooooooooboooobooooooobooooboooobooooooDbooobobo0oooooDboboOoboboo
oo0oo0ooOoo0o0oooOoOoocoOoOooooOooOO0OooOoOoOobOO00oOooOO0O00oOoooOooOob0cOoOoOoooO0O 51800
00000000 1kHz0 0000 Vi, =201, 000000000000000000000000000000
000 200mV,, 000000000O000O000O0000O00O0O00O0O00O0O000O0000O000 s0dBOOO
ooo0ooooOo0ooooooOo0o0ooooOosodBOOOOOOOOOOOOOO0ODOOOOODIO0O0OOOO
O0000000000000000000000000 51600000000000000 200mV,, 00000
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Measurement V used Driver #2 and LockinAmp Measurement V used Driver #2 and LockinAmp
I ! ! @ I ! ' ' !
: ; : o] 5 B
10 — ------------ ¢ : : : : :
: : : il : IS RS SRR T
= s : b < bodoboe e .
3 : : : : Q : : - I :
8 : : : : S L P R S .—
S s LI z £ L f " ]
§ oo o g ]
3 Cos ; ©Atten:100dB < § § . o Atten 100dB |
> : o © < Atten 110dB o : : Atten 110dB
i : : ; 2 : : Lox !
; - | o Atten 120dB 5 os Mo L b, . Atten 110dB a
I NN R SRR N | °Atteni120dB |
2x107 4x107 6x1077 8x107 10 2x107 4x107 6x1077 8x1077 10

Vin_pp [V] Vin_pp [V]

Measurement 6 used Driver #2 and LockinAmp

VT T T T T
[ © Atten 100dB : ]
[ x Atten 110dB : ]
e b Atten 12008 g 7]
L : + E H (? ° d
- : . @
10 fpeeeee e R RRREE SEETITTLPPPE SETPPPRPPPN =

Phase Shift

b i
2x1077 4x1077 6x1077 8x1077 10
Vin_pp [V]
0516 000042 0000000000000000000D0D000O0DOO000ODDOODOOOODOOOOD
gobooboobooboobooooboobobD0o0oboooobUoobO0obUDOoUobobDUoOobUbOodOoO

000000 100dBOx 0O 110dBOO00O 120dBO0O0OO

Function Tectronix Function Tectronix
Generator Osilloscope | Generator Attenuator Oscilloscope
Sync  Out Il In2 | ! Sync  Out In Out Inl In2

0517 OOOO0OO0OO0OO0OOOOO00O0

goboooobooooobooobboobbooobboobobooobboobbooobooobLbooboD
gooooood

O 5.15000000000000000000000000C0000000000O0O0O0O0O 516000000
OoboooobooooboOoDbOoOobOOoooobooboOonD s 19D00b00oobooboooOoobOoDOoon
00 0.6-1.0 xVppOOOOA#2000000000000000000000O0O0OSKkHzOODODDODODOOOO
gobooboobobooboboobo

ooooboooooooooboboobooboooo

8§00 SQUID O0000O0O0DO00OO0DOUOoO8OO SQUIDOOODOOODOOOOoooOoooooooo
coboooobooooboboooobooobboOooooobOooooOooOOoOoboboOoOoOOoOoboboOoOooOoOoooDooOoon
oooooobooooooboobbo0ooooooboooboooobOboobooOoooDbOooobobooooDoooDoboOooo
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Phase Shift [degree]

-5

Phase shift by attenuator

data_P125-126.txt

0.05

0.5 1

Phase Shift [degree]

Phase shift by attenuator

data_P125.txt
T T T T T T T
RO [oeorbeeee s e -
10 b e .
o Lo d i ]
+ 1 i I
60 80 100 120

Attenuance [dB]

0518 D0000000000D000000000O0DDOD000000000000000000000
0000000 Via =20 Vpp

Frequecncy Response V used Driver #2 and LockInAmp

data_P101-102_2.qdp

[

0.5 |

0.2 |

Ratio of Measured/Expected Vout

N L b ]

1000

P |
10*

Frequency [Hz]

el
10°

Phase Shift

Frequecncy Response 6 used Driver #2 and LockInAmp
data_P101-102_2.qdp
o g RRamea e

; S

K X :
o[ : : |
[To B R R e R =
| L ]
© L SRR _
— [ !
(B :

1000 10* 10°

Frequency [Hz]

0519 000000000000 00O0COOOO0O00O0OOOOOOO0OOOOOOOOO0OCOOOO

ogoooocooon
coooboboooooooboooboobooobOoooooooooooooooooboooocooboOooooonoaon
00000000000000000000000000000 520000000000 Vi, =Vee*t00000

Function :
Generator ' LHeProbe | Head Amp Control Unit
Sync Out % | In Out In Out
] 3 |
vin o inom Vh
Lock-in Amp
Ref In

0520 O0000O0O0O0OOOOOOOO0O
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goboobodbboobuoobbooboobboooboon

dl, iwM Vet
V= —pim M Voc T
h dt R
iRV,
M= - (5.52)

(5.51)

oooooooo0 wwoooOoooooooooooooMOOOODODOOOODDOOOODO0L,OO0OOOOO
R=10kQU0O0O00000O00O00OOO00OOOO0O0OOOV,OOOOODODOOOO MOOODOOOOD 1k Hz
ooo0oooooooo Vi, =01-10V,, 000000000000000000000 V,,2O00000000
05210000V 00000000000 G=3000000 Vh:Vc,utXQﬂ/GDDDDDDDDDDDDDD

Crosstalk of He Probel
10-8 d,atLP.lO4T105'qdp

BX1077 Hooeeee SRR Rk (RN ERITRI SR T O B 2

Vout [V]

L
0.1 1 10

Vin [V]
05.21 ODOOO0OOOOOO0OOOOOOOOOOOOOOOOOO

00000000000 Vin=10V,, 00000000

2v/2RV s
[\/1 = .
|M] GuwVy (5.53)
~ 750 pH (5.54)

0000000000000 0000000O000O000o0O0oO0oDOO0O0gs.2100 800 SQUIDOOOO
OO00OO0COOOOOOODOOOO SINPUT2O0O0BINPUT3 000 M=800pHOODODOOSO pHODOODODO
000ooo0o0oooO00ooo00oo0o00oO000oO0O0000000 ROODDODOODODDOOOODDOOO
ooobooooooon

420-SSA 000000000000

0000000000000000§5.2300000 420-SSA0000000000O0O0O0OO0O0OOOOOUOO
420-SSA 000000 $,/200000000000000000D0000O0O0ODODO420-SSAODO0OOODOOODO
0000o0o0oooooooooooooooon 1/1+£4(f) 0000000000000 TInmax 0000

MinIin,max
Tr o S (5.55)
o < D) o (14 £(7)) (5.56)

0000000 M, =54 pHODOOODDO SQUID OO0D0OOOODOOOODODOOODOOOOOOOOOL(Y)
000000000000 Inmax 00000000000O0O000O 52200000000000000000000
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0000000000000 00000 FLLOOOODO 420-SSAO000O00O0O0OO0OOOOOOOOOOO
ooooooooo L,000000000000000 FLLOOODODOOOOO Z0000000000000

300K : 4K : 300K

OF
Function Y okogawa
Generator Oscilloscope
SQUID ‘
Out " 5
amplifier ‘
Amp B

0 5.22 420-SSA +00004#20000000000000000

00000 52300000 523000000 (0 lIkHz) OOODOODOODOODOODOODOODOODOODOODOODOO

= [A]

Vout/

Measurement of Imax Frequency response of Imax
data_P110-111_2.txt 108 data_P110-111_1.txt
: | :
107 "“" """" R SRR E
= . : : TP
B 1078 fe g N N
} E : . . . E
3 i
: ; = 10k Hz i 2 - : : : : A
SRR S R preeeeeeee - 30k Hz i 1078 poes Peoeeeeeeeee R e R
[ N o 00k 2 R R S S
Ei Ll . REE ST BT T R IT B
107° 107* 1078 100 1000 10* 10°
Iin [A] Frequency [Hz]

0 5.23 420-SSA+0000#200000000000000000D00000O 420-SSAO000000OO0O00OOOOOOO

0000000 300 )ADODODO (5.56)00000000000000000000000000000000
0 (5.56)0000000000000000000000000000 52300000000000000000
0001kHzO0OOOOOO0OOD000000 fymax (0420 xkA) D00D000000000000000 £(f)O
00000000000 lymx 00000000000000
0000D000D000D000000§5.230000420-SSA0 0000#20 000000000000000
0000000000000000000 5220000000 420-SSA00000 50Q00000000000
000000000000000000000000000000 5250000000000000000000
0 SQUID 000D000D00O0xO00000000000000000000000000000000000000
o0 420-SSA 00000000000 420-SSAODD000D000D000D00MO 5.14000x000000000
00000000 R=10kQ00000000000000 200 nV/vHz0630 nV/vHzO0420-SSA 000000
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300K i 4K : 300K

50 Ohm % \
R

420-SSA Head Amp Control Unit

i o

Lock-in Amp

In Ref

SQUID

or

amplifier [T

Function Attenuator
Generator

Sync  Out

0 5.24 420-SSA +0000#2+ 0000000000000000O00OOOOOOOO

Frequency respose of Noise
data_P112.qdp

O Bias | = 0 pA, Monitar FB off :
105 |-+ -3+ -Bias 1= 31:3 pA; MORtOrFB o -+« v+ -ovmeies oo
- [0 BiasI=31.3pA Measure FB on

Vout [V]

107

1000 10* 108
Frequency [Hz]

0 5.25 420-SSA 000D 50QU0000000000000000O0OAC Gain = 54 dBO Time Constant
=1s00000000 SQUIDODOOODODDO0OOxO0O0O00000O0000000O000D0000000O0
goooooood

0000000000000 100kHzOOOOOOOO0O0OOOO0DO0O00O0OOO0O0OO000O00O0ODOOO 1kHzO
ooooo 3,uV\/}EEI[IDDDDDDDD[IDDDEI[I[IDDDEI[IDDDDDDDDDDDDDDDDDDD
420-SSA 0000000 600 nV,,0420-SSA 0000000 GOpAppDDDDDDD

000000000000000420-SSA0000000O0O0O0O0O0O0OOO0O0OOOOOO0DDOOOOOOOOO
1kO010kO100kHz OOODOO0ODOO0OO0OO00DO 52600000004, =2nA,, 000000000000000
0000000000000000000000 420-SSA0000000 Iin =2nA,,0420-SSA0000000
Vin=20,V,, 000000000000000O

524 000O0O0OODOOODOODODO

800 SQUIDODOUOODOUOOOOOO
0oooooooDoD L,=2nA,, 00000000000 800 SQUID (8INPUT20)000000OODODODO
00000000000 00O0 800 SQUIDOODOOOOOUOOOOOUOoOO 800 SQUIDO420-SSA O
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Measurement variation by Frequency Measurement variation by Frequency
data_P113-119_6.qdp data_P113-119_6.qdp
" FtB : : . Measure, FB on
easure, FB on : : :
: : ©os ° ® 1k Hz
e O i A H oo 3 S XUAOKHZ i ]
= X 10k Hz' : 3 - [0 100k Hz :
g O 100k Hz E - 1 £ : :
g : . @ 7]
5 : @ O e e B @ -ee o
K200 e B R e 3 o ¢ 6
f : o X ® hoom
3 @ : $ 0] @
s : o
: = I R S S ST -
. —
: . : |
T e -
E o il bl T T T Ll
101 10710 10-° 1078 0 10710 10-° 108
lin_pp [A] lin_pp [A]

0526 420-SSA+U0000#2+0000000000000000O00O0000DOOOOOOOOOOOO
420-SSA 0000000000000 O0OOOOO

000000000 SQUID OoOOoOoOoOoOOoOODO NpTiODOOOOODODOOOOOOOoO8OO SQUIDooooOo
0000000000008 00 SQUIDOOD 20000000000 10 420-SSAO000000OO0OOO
o000 10000000000000000000O0O00000DODODOO00O0O08b.2200M 000 SQUID
00000000D00000000 5270000000000000D00 5280000420-SSA0O0000#2
O0000e-VOOOOOUOOOOOODOOOO FFTOOUODOOOOOOOODOO 800 SQUIDOOO 2

0527 00000 800 SQUIDO 420-SSACO0D0000OOODOO 800 SQUIDOOOOODOUOOODOOOOOO

050 QODO0000000420-SSA 00000 ®— —VOOOODOOOOO0OO 5290000¢—V 00000
Vo =16mV/® 0000000 24mV/® 0 300 2000000000 3kHz20000000000000
000 (010 wV/VHz) 000000000000000000003kHz200000000 420-SSA 0 800
SQUID 0000000000000 0000000000000000800 SQUID O 420-SSAOOOOOO
0000000000000000 Zieop(f) = Rpara + iwlieop 0000000000 Ve 0000000000
000000 Viypaa 000000

Vi
Vaout = o222 = 5.57
o = 72 E() (5.57)
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input2

8input SQUID lin2

Vout,SSA

multi input

AmpA AmpB

input8

4.2K

I
I
I
I
I
I
I
I
I
I
I 300K

0528 800 SQUIDODOODOOOOODOOODODOODOOOOOO

routine8.qdp

¢ 1.03e71x71 +/- 20%

I=———u 10 Lonstie
CHZ  0.500V/div Normal

T T T CHL 100, Bnbiedtiv
2,500 oo

B Full

=
o2 0.500ais ~
B ruil I
=
€
o
7]
L
> 10 3
@ ]
0 1
5 ]
zZ 4
1076 e PR AR EEEEEEECEEEEEREEE ¥
By il Ll Ll sl IETETERETH O
10 100 1000 104 10
Frequency (Hz)
P-P (C1) 1001.0nV Avg (C1) -67.181Zn0 Spv (C1) 337.189my
Prod(C1) 42.d6ns D1y (C1) 0. 0000deq: PrP (C2) 1.5170
Aup 662 76.9628RM 0w 500 0ut/
Running 5849 Edge CH1 5
(L 2006,08.22 21:34:34) fAuto 0.0ny 2006,08/22 21:34:35

0529 00420-SSAOO00O000OO0O0OOOOOOOOOOO ¢-VOOOOODOODOOODOODODODODOO
gooooooooooooooooooooooboooooo
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00000000E(/))00D0D000D00O0D0O0f<1kHzOOOD E(f)00000000OOOOOOOOOO
ooboooooooboooooboooooo

Vn ara — 4kBT —
Viout = =200 F = \/ = (5.58)
o Rpara Rpara

AkpT=2
Rpara = Vif = 3.1 mQ + 18% (5.59)

n,out

000 kg=138x 1072 J/KOT =42 KO=Z=50kV/A0000000000000O0O0OOOOOOOOO
0000000 Liep 000001kHzDDODODDODODO Z(f)0ODDODDODODODODDODODOODOOOOOOOOO
goobobobooooooooon

1.36 x 1075 = 1.03 x 1071 1 (5.60)
f =17.6 kHz (5.61)
00000 Ligep O
iwLioop = Rpara (5.62)
Ligop = 65 nH (5.63)

0000000 Licep = Ling + Lingsa 0000 Ly, = 6.4 nHO Lipgsa =80 nHO 0000000200000
0000000000D000000000

00000000000000000000000000 800 SQUIDOOO0 20000000 100000
00000000#200000 420-SSAO00000000000000000D0000000 530000000
00001kHz0O0ODOO Iy, 00000 V, 0OOODO0O0D0D000000000000000000000
000MO0D0000000000 50Q00000000000000000000000000 V,, 0000
0D 1//20000000000000000000005.3100000 100 pAODODOODODOODOOD0
0000000000000 5300000000000000 1.0pA,, 000000000000 800 SQUID
000 10000000000000000000000000000000000D000000000 53100
00000000000000000000000000000000000000000 E(f)00000000
00000000 Rpaa O 420-SSAD 8 00 SQUID 0000000000000 00DOO0D0OOD0OO0DOODN

D000000000000000000000000 G(f) =545 00000000 G(f)0000000
0 53200000000 E(f)=2=50kV/ADDD0000000000000000000000000 Vieop
00G(f)0000
‘/out
Vioop = 5.64
= G() .

000000 5300 G(f) D000 Vieop 000000 53200000(548) 000 Rpara > iwLioep 0000
00000000000030kHz 0000000000000 00000000 53200000000000
Vioop = 7.5 x 107130000

Vioop = —twMin1-21in 2 (5.65)
gooooo
Vieo 100 pA
Min1—2 =11 nH£27 P 5.66
=2 " %’<7ajﬂv> ( T (5.66)

00000000 2,6000000000000 (00O 60 420-SSADO0OOO0O)D

Rpara = 1.6 mQ + 24% (5.67)
Mgg,gin = 500 pH + 35% (568)

gooogo



Vout*2sqrt(2) [V]

Vout*2sqrt(2) [V]
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Mutual Signal of 8input SQUID (input1&2) Mutual Signal of 8input SQUID (input1&2)
data_P135-137_1.qdp data_P135-137_1.qdp
1E

100 foo oo

10 5 : P

10 ¢ T : :
: © Measure, FB on .
10 e i i I B BN
107 10 10 10+ 107 10 10 10
lin_pp [A] lin_pp [A]

Phase shift

: 100 oo S
O Measure, FB on [

0530 DoooOoooooooooooooooOoOoOoOoobooOooOoOoOoOoOoOooOoOOOOO0obDOOOOOOObOODO

Mutual Signal of 8input SQUID (input1&2) Mutual Signal of 8input SQUID (input1&2)
data_P135-137_2.qdp data_P135-137_2.qdp

0.1 freeneeeen e e T e < - © : : : 1

3 : : ® o E - : © Measure, FB on: .

: 1) : ] r : : : 1

: ; ° 100 p=-eeeeeeee A P ]

0.0L frererreemerdeeennrenene @ . o : 1

. ® . J

7 : ¢ N

[T U S HUUTTURTR SO 4 9 LU e SRR SRR S R A ]
ol : 8 :

: : : : £ : i

0] . . H N © 4

O Measure, FB on: : ]

1074 oo e

=100 freeeeeeens e e P LR RPRRRE .

: : : : E : : : o]
® : : : ] r : : : : ]

10 100 1000 104 10° 10 100 1000 104 108
Frequency [Hz] Frequency [Hz]

0531 00000000000 O0OOOOO0O0O0OO0O0O0OO0O00100kHzOOODOOO0OO0O0O00O00OO0O0OO
gooooooooooooooocoooooooon

G from Noise power spectrum Mutual Signal of 8input SQUID (input1&2)
data_routine8.txt

G [v/V]

! T UL T —TT 107 T ......! MR C:)':
| om " = | T : : r : : : : ]
: : : : 108 feoeeeeees e Cee A [ER— .
107 foere [ JRCERRRPRORS foeeenee o E : : : E
- g 100 E : <
i L] = E . 3
T Ot S SRS el I~ E y =7.5e18x
E & I E : : 1 ]
i ; & 1070 b R RREREE SRR E
" 5 g ' : : : E
108 koo SO OO O UURRRONU 4 2 i © Measure, FB on: ]
- § : 5 b lom ©olin=100pA 3
S AOUTR ST SR e 1022 R, SR B RN

10 100 1000 10* 108 10 100 1000 10¢ 108
Freqency [Hz] Frequency [Hz]

0532 0000000000 GUOOOOUOOUOOOOOOOOUOOUOOOODOOO
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800 SQUIDOOUOUOOOOOUOOO

OO0 800 SQUIDOODODOO0OODODOO0OODDOO0OO0DDOO0O0DU0oOOO00UODOOoODoDoODOoOoDoODO 8
00 SQUID 0000000000000 O08UO SQUID O SINPUT2O008INPUT3 0O OUOOO# 0000
00000000000 000 420-SSAUO0000O#2000000 533000000000000000000
0512000000000000000000000 800 SQUIDOOOOMonitorD0O00O0O00OO0O0OO0OOO

!

0533 HeOUOODOO 800 SQUID O 420-SSA 00000000 OO8 OO SQUID 0420-SSA 0000
oooooooooogod

00000000000 0O000o0O000OMeasurel0 000000000000 DOO0O0OOOOOODOOOOO
000 5500000000000 800 SQUIDOODOOOODO 000000000 OOOOODOOODOOO
20000000000000000000 *0000000000000000000000000000000
O0000oooO0o0ooooooOooo8oOo SQUID 00000000 O0O0O00ooOoO0o00ooDOmSINPUT2
OO0 oooooo8INPUT3S 000000000000 00000000O0000DOO00O00ODO0OM

OO0 SINPUT20000000§521000000000000000000000 8OpHOOOOOODOO
0000000000 1/1+£4)000000000000000000 (Measure)J00O0O0O00OODOOODOOO
ooooooO0O0o00oO0O0O0O0OoOoOoooOoOoOO000000000o0o0O0O0OD 0pHOOOODOODOODODO
0000000000000 000D (Monitor) 00DDDDO0OO0DODOOODODOODODOUOODOODOODOO
oooooosopHOOOOODDODOOOODODOOOOOODO 1020000 1080000000000 400 pH O
00000000000 1020000 10800 SQUIDOOOODOOOODODOOOOODOOODODOOODOOSQUID
oooooooooooOooooooooOoOoooooOoOOoOoOoOoOoOoooOOOobOOoOoOoOoooOOOb 10200
ooooooooooooooooooooob0 pmO0O0000O0O0DOOCOOOOOOODOOOCOOOO00 10
000000000 1OODOOoDoooO0O0 2emM 0000000000000 00000000000O00O00OO
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L=11 L =165 (Pole f = 11 kHz)
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